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Question Number : 1 Question Id : 8135612881 Display Question Number : Yes Is Question
Mandatory : No

In algae. vegetative reproduction mainly takes place by
OO THATSG SoferT 2008

Options:
Fragmentation

1 ms;_Tumea

Heterocyst
LGS

Akinetes
D&HeS

Budding
?.mrrj & corot)

Question Number : 2 Question Id : 8135612882 Display Question Number : Yes Is Question
Mandatory : No
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Assertion (A): Bryophvtes are the amphibians of plant kingdom

Reason (R): They are found in swamps and areas. where water and land meet

:J-?.)én (A): QGEI"EESJ@ e T2 =ralonbiniod SPRDE Ml
se6tao (R): 2 DS dee K. D Sodoin do €D LTS A SRyothIAD
Options :

Both A and R are correct and R 1s the correct explanation for A

1@ A SHobain R e Godior 20D S08ciw R @938 A € 20D D506

Both A and R are correct and R is not correct explanation for A
A 28030 R e Gotr 2040 550 R 0938 A § 20 D568 5°¢

A 15 correct but R is wrong
A 2008 570 R 2057w

A is wrong but R is correct
A 2857 57 R 2058

Question Number : 3 Question Id : 8135612883 Display Question Number : Yes Is Question
Mandatory : No
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Angiospermic plants are characterized by
(1) double fertilization
(1) triploid endosperm
(ii1) diploid endosperm

Choose the correct option from the following regarding above statements?

B0 D G L VLW
(1) Botssno
(if) SRS oSG G0
(ii]) GYEDVSE L0SIES o
ERIGRALY :ﬁns‘.g}u&a RotoBod) BT TS+ (DBotect?

Options :
(ii) & (iii) are correct
-y () & (iii) %BqBD

(i) & (ii) are correct
, o @ & (if) ©og0o

(i) & (iii) are correct
L w (i) & (iii) 283D

(i), (ii) & (iii) are correct
4w (1), (i) & (iii) ORI

Question Number : 4 Question Id : 8135612884 Display Question Number : Yes Is Question

Mandatory : No
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The diagram represents the lifecycle of

angiospernt. Choose the correct combination

of labelling?

B Dto 28 s Da £ Bgerd
3DaDEaod. $08 TG POEA
aPiowR) Botiod?

Options :

(a) — Anther. (b) — Stigma. (c) - Ege. D — Male gametophyte,  E —Ovule
. (@- o080, (b) - oo, (c) - 3 Daxseso. D - P Rodiridasdo. E - eoto
1.

(a) — Ovule. (b) — Stigma. (c) — Male gametophyte, D —Anther, E-Egg
- (a) —eoco. (b) — Sero. (c) — R Rodirrdade. D — Dot $o. E - 2 Haseo

(a) — Male gametophyte.  (b) —Stigma, (¢)—Anther. D-Egg. E - Ovule
. (a) — )R Doairrdade. (b) —Serde. (¢) —HorriE80. D - Eg Dagmo. E— ot
3.

(a) — Stigma, (b) — Anther.  (c) — Male zametopliyte,. D - Egz. E - Ovule
y v (a) — Serdo. (b) —HEerE 0. () — )R Dodirrdade. D — Pg Dadmo. E —eotto

Question Number : 5 Question Id : 8135612885 Display Question Number : Yes Is Question

Mandatory : No
AP EAPCET 2021



Match the following Columns?
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Column - I

Column - I1

(a) Father of Taxonomy

(1) Hooker

(b) Father of Zoology

Ly

(1) Carolus Linnaeus

(c) Father of Medicine

(11) Anstotle

(d) Father of Biology

(rv) Huxley

(e) Concept of Genus

(v) Hippocrates

(f) Father of Neotaxonomy

(vi) Emest Mayr

(g) Darwin of 20% century

(vii) Julian Huxley

308 JMHV 26 Baboed.?

2w - 1

(a) 080T D
0 b

(i) b

(b) 20T &b
<=

(i) sBwd 95‘10535:

(¢) TOET L 2

(iii) tsagﬂéﬁai

(d) 270 Db

(iv) 48D

() PP I

(v) 2385y

(f) Arad béédﬂ TR 0

(vi) 90y Hoasd

(2) 20 S 3T e8¢

(vii) erdoDrd ::uéﬁ}

Options :

1 % (a—ii),(b—iii),(e—vi),(d—wii),(e—iv),(f—i),(g—v)
5 o a—ii),(b—iii),(e—v),(d—iii),(e—i),(f—iv),(g—vi)
3 % (a—ii),(b—iii),(c—iii),(d—v),(e—iv),(f—i),(g—vi)

4 % (a—ii),(b—iii),(c—iv),(d—vii),(e—wvi),(f—i),(g—Vv)
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Question Number : 6 Question Id : 8135612886 Display Question Number : Yes Is Question
Mandatory : No

In Alstonia the type of Phyvllotaxy 1s
55" o3 & DY TR BSo

Options:
Alternate

Whorled
), v B80D

Opposite

3 % £92)33008)

Simple
4w ROV

Question Number : 7 Question Id : 8135612887 Display Question Number : Yes Is Question
Mandatory : No
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Match the following types of placentation with respective plants?

Column-I Column-II
(a) Margnal (1)  Argemone
(b) Axial (1) Dianthus
(c) Panetal (1) Pea
(d) Free central (1v) Tomato
(v) Marigold

B raaba BOGT[R G5V a8 208 © DO 2BHGNE]

2R -1 2R - II
(a) &JFod (i) eBard
(b) eiob (i) Calrodd
(c) Socy (i) &R
(d) 3Bl (iv) &5are’
(V) &od

Options :
1 % (a—ii),(b—i),(c—iv),(d—v)

, v (a—iii),(b—iv),(c—i),(d—ii)

3 % (a—v),(b—iii),(ec—ii),(d—1i)

Question Number : 8 Question Id : 8135612888 Display Question Number : Yes Is Question
Mandatory : No
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Identify A, B and C 1n the given diagram of the

regions of root tip?
B S DA 5 dodervd’ A, B. € v
obotdod.?

Options :

A — Region of maturation. B — Region of elongation. C — Region of meristematic activity

o A-20883 oo, Bl b drodo. € - g a8 Jrodo

A — Region of elongation. B — Region of maturation. C — Region of meristematic activity
A—TEd) 0bA ode. B - 20688 Fodo. C — Dzad 287 Frodo

A — Region of menstematic activity. B — Region of maturation, C — Region of elongation

3 % A - Dad 280 Fodho. B — 20863 Srodo. C - Ty 2B Frodo
A — Region of meristematic activity. B — Region of elongation. C — Region of maturation
4 % A — Db 266 Jodo. B—Jdd) 088 rodo. € — 20605 Fodo

Question Number : 9 Question Id : 8135612889 Display Question Number : Yes Is Question
Mandatory : No

What 1s common between vegetative reproduction and apomixis?

TDATH S8, ©0oaIr(Rd00 Bodothd I TrErId Boto?

Options :

1. %
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Both occur round the year
S0t RodBGeT™ 28R

Both produce progeny identical to the parent
- BoG.0t3e5" 0 Dordo SO D'Voiwocrdn

Both are applicable to only dicot plants
, Dot B Ewda 28w HBotididd

Both bypass the flowering plant

4w Cotir :aﬁlbciﬁ AWE) O m&mgo

Question Number : 10 Question Id : 8135612890 Display Question Number : Yes Is Question
Mandatory : No

Chose the incorrect statement of Gamete transter”?
Brbd 26).2y 3"5“59.:-955 Ro0ird dare) 6T EFS) DotloGot) BTG 570 SEICH

Options :
Male & female gametes brought together for fertilization
!'g, B Rodirr Daren DuASEE S50 algley DONRICOD

The munber of male gametes produced are larger than female gametes
R oA DaFe Voa)| Sofl IR VoI Hazre) Vo JEY,D

In majority of the orgamism’s male gametes are non-motile

L o V8D B5.5y065° 1O Voddrd Dared SO dirared
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Pollen grams are the carriers of male gametes in angiospenns
e5:9y8 D’ DO BEa)Ln QAR Vodirr DerwL) TIPSR DIBOIV

Question Number : 11 Question Id : 8135612891 Display Question Number : Yes Is Question
Mandatory : No

Select the mcomrect statements of Eichhorma
©5°0) i S DotioHow) VOTDIG 5°A T°Sfo

Options:
Invasive weed mn standing water
26 DVSETT ol AP DI DAMBT To(Dotd SLY D),

It drains oxygen from the water
26 AOSE"D 8825 Tl

It 1s ndigenous to India

R0 TOBHET IS Dodd 208
3.v

It can propagate vegetatively

. 26 THADH DABD BEOYDE D

Question Number : 12 Question Id : 8135612892 Display Question Number : Yes Is Question
Mandatory : No

Select the incorrect statement related to outbreeding devices in plants?
MSGE@“ wﬁﬁga-ﬁé O3oTEITLIS) Votiodow) NOADHE T°R) ;1“55::'?

Options :

1. %
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Pollen & stigma receptivity are nof synchromzed
DTG Dodw, Serdo Ty (B0t HXS Do Gokdd

Anther & stigma are placed in different positions
Sorew, Sertio B TS Gt

Self-sterility

- ué& boqﬁgejsa

Production of bisexual flowers

) v &¢dofis Yaryw &3S

Question Number : 13 Question Id : 8135612893 Display Question Number : Yes Is Question
Mandatory : No

A special membranous structure. mainly associated with respiration, secretion process and

replication is
Todan, Fddan, H8406° FeyE Siand oo H

Options :

Mesosomes

1. ¢ h:ﬁ“ﬁﬁum

Plasmids

ﬂ“iaéﬁa.u
2. % 7

Chromatophores

L . B2

4. %
AP EAPCET 2021
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Ribosomes

o 5 o)

Question Number : 14 Question Id : 8135612894 Display Question Number : Yes Is Question

Mandatory : No

A typical Nucleosome contains DNA wrapped around a core of lustones which have

w8 T Ardarrd’o IS Jo §6: W ad) DNA & sdhaboetm. & FYS
Fdoew

Options :

.« HA HB, H; & H,

, v H2A, H;B, Hy & H,
5 » HiA, H;B, H; & H,

4 « H2B, HyC, H3 & H,

Question Number : 15 Question Id : 8135612895 Display Question Number : Yes Is Question
Mandatory : No

The DNA 1n which the base sequence of one strand is opposite to that of other strand when

read from opposite direction 1s called

DNA & 2,8 06" G0l A2 TOPL SR S0 AT e ddad oo

DA SN bﬁ@éﬁnﬂ" GotOR. ;55@65 &38° BRI

Options :

Satellite DNA
|« TOTE DNA

AP EAPCET 2021
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Palindromic DNA
5 » TOSEDS DNA

Repetitive DNA
5 % 6HSO5 DNA

Non-coding DNA
4 % Scof 264D DNA

Question Number : 16 Question Id : 8135612896 Display Question Number : Yes Is Question

Mandatory : No

Match the following types of plastids with their functions?

Column - I Column - 11
(a) Leucoplasts (1) Carbohydrates
(b) Amyloplasts (i1) Protems
(¢) Elaioplasts (111) Nutrients
(d) Aleuroplasts (1v) Oils & Fats

B 98) %) 88 T 057w, T8 DV 28 Babed.”?

28w -1 20 - 11
(a) 38 BrwHew (1) =0 ::xz:s“g“w
(b) e TRw (i) Aronsdoen
(c) =dararen (i) Vg iy iy
(d) wms&‘?igw (iv) Ardew oo 8w

Options :
1w (a—iii),(b—1i),(c—iv),(d—ii)

AP EAPCET 2021
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, % (a—iv),(b—iii),(c—ii),(d—i)
5 (a—1i),(b—ii),(c—iii), (d—iv)

4 % (a—ii),(b—iv),(e—i),(d—iii)

Question Number : 17 Question Id : 8135612897 Display Question Number : Yes Is Question
Mandatory : No

Select the incorrect statement of cell cycle?
S£3 S0 DR NotdoHowd PBADD TS0 =2 R7

Options :

The cell is metabolically active
Seao &dHJakr Do WHS Sorwd SDAKVCH

The amount of DNA per cell doubles
S£30e5° DNA DH8AT 30 aego::mm

The nmumiber of chromosomes remains the same

- Eardo o Rog] HrE

The mterphase lasts less than 95% of the duration of cell cycle

4 o ST oS0 83 BB 95% ST7) B8, ot

Question Number : 18 Question Id : 8135612898 Display Question Number : Yes Is Question
Mandatory : No
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Assertion (A): The spring wood has a greater number of Xylem vessels with wider lumens

Reason (R): During spring season plant requires large amount of water mineral salts

Ndydo (A): Hdod TODS DTODD VIS5 (o TEH T 9fS K}omiseﬁ‘ Gotd)
560 (R): 3008 &R 2w 8 J8 S Dot N, DA VILTFLD BIG0

Options :
A is correct but R is wrong

1 % A 2038 57 R 2857

A is wrong but R is correct

5 % A 2B57cL 570 R AT

Both A and R are correct and R is not correct explanation for A

3 % A 08030 R 20 Gottr 0D 57 R 936 A § 20 2566 5°e

Both A and R are correct and R is the correct explanation for A

4 A H0Baiw R e Todar DD £S08030 R @998 A € 20D o0

Question Number : 19 Question Id : 8135612899 Display Question Number : Yes Is Question

Mandatory : No

Identify the labeled parts 1,2, 3,4 in the below
figure?

S0 DS PO 1,2, 3,4 hBotsel?

Options :

AP EAPCET 2021
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| — Ground tissue. 2 —Vascular bundles. 3 — Epidermis. 4 — Hypodermis

| — oo Searve, 2 — TYS® Poren, I - a:vf.réc:’:dén. 4 ac;}%bcﬁéa

| — Epidermis. 2 — Hypodermus. 3 — Vascuolar bundles. 4 — Ground tissue

[ —errEsdio. 2-w63 \0lo. 3- TS ore, 4 —Rorads SteFoo

1 — Vascular bundles. 2 — Epidermis. 3 — Ground fissue. 4 — Hypodermis

| —r9s Oyoamen. 2 —erdrid)e. 3 —Rolrads Smerve. 4 — 9G30
3 @ a2)Q 75 éc of o -;ﬁéﬂ

| — Hypodermis. 2 — Epidermis. 3 — Vascular bundles, 4 - Ground tissue
1 -8 6lo. 2 rEtilo. 3 - TYST oaren. 4 — Dolros Smareo

Question Number : 20 Question Id : 8135612900 Display Question Number : Yes Is Question
Mandatory : No
Assertion (A): The veins vary m thickness m dicot leaves, with reticular venation

Reason (R): The size of the vascular bundles 1s dependent on size of the veins

Adydo (A): BLE¥ Des DT PUTE £ TR08" EDLY L 6570 NorrVS” Gt
80 (R): P95 2o D00 £i20 D8I e BIEN6 S0t
Options :

A 1s correct but R 1s wrong
1 % AROHG 57 R 2857

A is wrong but R 1s correct
A 2057 570 R D0/

Both A and R are correct and R is not correct explanation for A

3 % A 20baiv R w0 Socr RWoAD 5 R 0958 A S 2BD D08 570

AP EAPCET 2021
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Both A and R are correct and R is the correct explanation for A
4 v A 0Bain R en Gotlr R0 08030 R 0938 A S 20 D560

Question Number : 21 Question Id : 8135612901 Display Question Number : Yes Is Question
Mandatory : No

Select the musmatch pair from the following?
& 08 TS VBTV 1S IH?

Options :
Monocot root — polyarchy
| x SOV D2 D — LBV DE T

Monocot stem — Lysigenous cavity

, x VS6¥ D STotio — VOIS Lo

Dicot leat — Bulliform cells
BYEY D2y Do — L0dIE) Seren
3. v ”

Dicot stem — Sclerenchyvmatous pericycle
4w OSG¥ Da STolo — Gy& Srarecind HOSEe

Question Number : 22 Question Id : 8135612902 Display Question Number : Yes Is Question
Mandatory : No

Select the mcorrect statement with reference to ecosystem service 0, release?

B350 DBV DotloBow) e330H SIS RSV Mowodow) ABAVAG 57N SEICH

Options :

1. %

AP EAPCET 2021
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Submerged mesophytes release 05 and enrich dissolved 0,
QPBrT AES" 0h &) e 20800, 225 M Sobke T ABS* $BAAIVDY

220 Dot

Microbes degrade organic compounds both aerobic and anaerobically
O8N O, BTrady TR0V THT Arg) £a)eD doGab OTTORD D) 0 BOINAD

Plants and Planktons are the lungs of the world

- ST, D8 DIV DDotho CIVE), E»DBBBOLL WotTdd

A mature leafy tree produces 0, for 100 peoples to whale in a vear
8 DACINS 6 AE), w8 oSG Swos 100 Sod SISV SHuH Emhmbé

SOV BERIN DG BB

Question Number : 23 Question Id : 8135612903 Display Question Number : Yes Is Question
Mandatory : No

Select the incorrect anatomical adaptation of Xerophytes among the following?

D68 208) © Wodl) T 6 ErOTLE” ABAIE AT

Options :
Epidermis with thick cuticle and Silica crystals
, S0oBI0D IR AV er BO)e, DI DyEsTen

Stomata are hypostomatous
, O8erir| oT7y D8 HEDWSDD DY Sogre

Vascular tissues are poorly developed

SEY) ST D30 BWoHOIWRY) TYS° Sezrered
3.v =

AP EAPCET 2021
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Mechanical fissues are well developed

T @008 BoBainD) Cireds Staarerwn
4, % .

Question Number : 24 Question Id : 8135612904 Display Question Number : Yes Is Question
Mandatory : No

The respiratory quotient for fats is always
ED( g, TR0 Ehot) Ded JVDET

Options :

1.8 1
> % 0
3% >1

4.v <1

Question Number : 25 Question Id : 8135612905 Display Question Number : Yes Is Question
Mandatory : No

FAD is electron acceptor during oxidation of
98 e38,80m0 Bokto SV FAD JUSS (SO Gotnod?
Options :

a — ketoglutaric acid —— Succinyl CoA
a — SE°HErBS o —— IS EdoB A

Succinic acid —— Fumaric acid

- D535 e300 —— YOS B0

AP EAPCET 2021
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Succinyl CoA — Sucecinic acid
28265 £Joz0 A —— 28I8 es2v0

Fumaric acid —— Malic acid

4 2§08 w0 —— 2798 eso

Question Number : 26 Question Id : 8135612906 Display Question Number : Yes Is Question
Mandatory : No

Assertion (A): Respiratory pathway is amphibolic pathway

Reason (R): Respiratory pathway invelved in both anabolism and catabolism

Qydo (4): TSI Srdo G2 ads08r ardo

560 (R): FiRs0ir Argo Ao 62 Sapen. DDy Saben Dol otdes’ A a»g“mm

Options:

A 1s correct but R 15 wrong
1 % A DDDE 57 R b5

A 15 wrong but R is correct
A 28576 57 R 20D

Both A and R are correct and R 1s not the comrect explanation for A
A 208030 R en Gottr 20D H0d0in R 0938 A S 203 D66 576

Both A and R are correct and R 1s correct explanation for A

4 A S0Bain R e Godor 28R 572 R 938 A § 20 D506

Question Number : 27 Question Id : 8135612907 Display Question Number : Yes Is Question

AP EAPCET 2021
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Mandatory : No

Match the following?

Column I Column IT
(a) Francis Darwin (1) Kinetin
(b) F. W, Went (11) Gibberelln
(c) E.EKurosava (1i1) Phototropism
(d) F.Skoog (iv)  Auvxin

S0 T BN

200 -1 200 - 11
() YD B (1) 363
(b) E. W. Dot (i1) amaagsw
(¢) E &Y (iii) o& SPerdd
(d) F.am)h (iv) Gé:JEJw

Options :
1 % (a—iv),(b—iii),(ec—ii),(d—1i)

5. v (a—iil),(b—iv),(c—ii),(d—1i)

5 % (a—1),(b—ii),(e—iii),(d—iv)

4 % (a—ii),(b—i),(e—iv),(d—iii)

Question Number : 28 Question Id : 8135612908 Display Question Number : Yes Is Question
Mandatory : No

AP EAPCET 2021



AP EAPCET 2021

Assertion (A): Pea seeds swell more on imbibition than wheat seeds

Reason (R): Proteins have high mmbibing capacity

D80 (A): AT o S0 P IITw Fdd JSTre o8 Jdy) S GEI PO
500 (R): Y8000 0ds IFD Er;:ugéu 3TN
Options :

A 1s correct but R 1s wrong
A 2038 570 R 2ds7ch

A 15 wrong but R 1s correct
A 28570 570 R 2008

Both A and R are correct and R is the correct explanation for A
A SB0in R e Gottr 00 08030 R 938 A 8 282 D566

Both A and R are correct and R is not correct explanation for A

4 % A S0Bain R e Goctr HPAD 572 R 36 A § 008 Do 5w

Question Number : 29 Question Id : 8135612909 Display Question Number : Yes Is Question
Mandatory : No

Identify the reaction for which the C, plants require some extra ATP molecules in comparison

to C plants?

Cq MSE}US T3 €y 208y 08 o §) ATP e eddo. B §68 &
30§19 AoBoSol
Options :

Conversion of PEP to OAA

|« PEP, OAA rP 35-833ed

2.

AP EAPCET 2021



AP EAPCET 2021

Conversion of Pyruvate to PEP

2200265, PEP 1 25780560

Conversion of Malate to OAA

3 % sS5eggeS, DAA e 070t

Conversion ot PEP to Malate

4 % PEP, S3&GeSmr A0°83)60

Question Number : 30 Question Id : 8135612910 Display Question Number : Yes Is Question
Mandatory : No

(1) Indole 3 — acetic acid

(1) 2,4 dichlorophenoxy acetic acid

(iv) Naphthalene acetic acid

Above are the examples of which PGR?

(i) @o&eS — 3 — e9e)§ e3dvo
(i) 2,4— & §8HTSy 00288 esdvo
(iii) 6. @oe e[008 e300
(iv) =0DD 0268 vvo
23 &) D D PGR £ &orirdeen’?
Options :

Auxin

1 ¢ E.‘l‘é;).%

Cytokinin

5 % 2SI

AP EAPCET 2021
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Gibberellin
E&Jaﬂ&&
3. % =

Ethylene
4 % 895

Question Number : 31 Question Id : 8135612911 Display Question Number : Yes Is Question
Mandatory : No

Select the incorrect pair of viral diseases i plants?

BS DAY DO HY 205 LSO By 3“5@9.::955 ROOLAA STAG?

Options :
Chlorosis — Peach
GBS — 3O

1. % =

Vein clearing disease — Bhendi

5 % S0 agﬁﬁo — 8ot

Malformation — Swollen shoot of Cocoa

S)ErHey — EF &enySrotio
3. ®

Viroid — Mosaic disease 1n Tobacco

DoPoE — ITEes” Dwerans SN
4, =

Question Number : 32 Question Id : 8135612912 Display Question Number : Yes Is Question
Mandatory : No

AP EAPCET 2021



AP EAPCET 2021
A true breeding plant 1s
RBRBOD DS, BT

Options :
Omne that 15 able to breed on 1ts own
26 ToBorr VoSS 8 Sobrwd

Produced due to cross — pollination among unrelated plants
Potode TR AWE) @ QU] DEDT Vo) 0 DY EJ::SQ&.:{J&

Homozygous and produces offspring of its own kind

3 ¢ ‘rbmoﬁljﬁéao Fablolovb bl nghe] Ve VoTrdo &S\S GV

Always homozygous recessive in its genetic constitution

(350 20 U"E"éaf‘io&ﬁﬁ B0 VD@D R2voief 2 odddorT Gotod
4, ® = %

Question Number : 33 Question Id : 8135612913 Display Question Number : Yes Is Question
Mandatory : No

Who proposed the chromosomal theory of inheritance?
Eardoy eodndodssd ﬂag“oﬂ“:)l DB DA Qo td?

Options :
Sutton and Mendel
. :ag.g.‘& S0B030 Doced

Morgan and Mendel

ATT°R B0 Dodied
2. k3 0
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Bover and Morgan
ePod J0Baw TR

Sutton and Boveri

20D 2805 eS8
4.v Vo

Question Number : 34 Question Id : 8135612914 Display Question Number : Yes Is Question
Mandatory : No

Assertion (A): Purine always comes opposite fo a pyrunidine

Reason (R): Appropnate uniform distance 1s maintamed between the two strands of the DNA helix

Adydo (4): ‘QTTS&?JFJJ QYT DB BT Gt
s°6r3o (R): DNA 2 ywotS” Goch) J'cs 306 e GhrBo BT ot

Options :
A is correct but R 1s wrong
A 20AS 572 R 205

A 15 wrong but R is correct
A 2057 570 R 20208

Both A and R are correct

3 ¥ A H0Bain R e Godr R0

Both A and R are not correct
A 50800 R 20 Godrr 20D 5°)

Question Number : 35 Question Id : 8135612915 Display Question Number : Yes Is Question
Mandatory : No
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Given the diagram of the lac operon showing an operon of inducible enzymes, Identify components and
enzymes (A.B.C.Dand E)?

7 €5 207 Do DoBSRN VBTN 26 2O WP, A.B. C, D dndaty E
TR 865 doBV hotdod.?

p i p|o Z y|a ‘ Transcription
o
repressor mRNA ,,w * lac mRNA
Ml“"""ﬁ s ¢
BRr6 Troperd RNA er§ Traterd mRNA
i Translation
D— @ e B0
/" i“fi\;; ----------- {-t;’;: Enzymes
o I
E ,0 0 :EEB_ ______ ( 2 JRE0e)
Options :

A - f. Galactosidase, B — Permease. C - Transacetylase, D — Repressor protein. E - Inducer (lactose)

v A-B.moERCE,  B-0B)0bE. (- ryodeds. D-0p6 PR,  E-20d (UES)

A - Galactosidase, B — Permease, C — Transacefylase, D - Inducer (lactose). E — Repressor protein

- A-.roERas.  B-0Bjchd, C-pOywdpds. D-pdso (UrEE). E-0pd6 B9

A - f. Galactosidase, B - Transacetylase, C — Permease, D — Repressor protemn, E - Inducer (lactose)

- A-f.roEREE.  B-popdpds. C-08jdbd. D-ood6 FES.  E-0so (E)

A —Permease, B - Transacefylase. C - f. Galactosidase. D — Repressor protein. E — Inducer (lactose)

L A-08)0b8. B-rowdpdd. C-f.mofnds. D-tp¥6TUS.  E-podo (0Ed)

Question Number : 36 Question Id : 8135612916 Display Question Number : Yes Is Question
Mandatory : No
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REN enzymes cut the two strands of DNA at different locations
04 Dol AT[SaL JoZwew DNA ding), God Jeswdo Ho(w pdTY 3¢ 58003
TP

Options :

Staggered cut
F56 BED
1.+ & o

Exo nuclease

| 98, argdadd

Endo nuclease
. dols Arjdoio

Palindromie sequence
4% FOof S HED §300

Question Number : 37 Question Id : 8135612917 Display Question Number : Yes Is Question
Mandatory : No

The separated DNA fragments can be visualized after staining with

Sxdabers DNA dotromd BPELrDS &H00rNor e9ddo2do

Options :
Calcinm Chloride

- E‘*gcﬁoo gﬁﬁ_ﬁ

Ethidium Bromuide

5 ¥ d&&abe &
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Acetocarmine
3 % SEEODD

Orcein

REY-S

Question Number : 38 Question Id : 8135612918 Display Question Number : Yes Is Question
Mandatory : No

Assertion (A): All Eukaryotic cells have RNAI for cellular defence

Reason (R): RNA1 silences mRNA and prevents translation

REydo (A): ) JaSeds sud’ én din DESTT RNA1 D00 athded
s°60 (R): RNAI a5asamoe§* mRNA & god TR QA& Qe mRNA e
Quhjnﬁ 200

Options :

A is correct but R is wrong
1 % ARGIE 5° R 205

A 1s wrong but R 1s correct
A 2857 57 R 2008

Both A and R are correct and R is the correct explanation for A

3 ¢ A 08030 R 20 Tottr H0AD 00030 R 938 A S D0 2506

Both A and R are correct and R 1s not correct explanation for A

4% A So6ain R e Godsr 00 572 R 29386 A § 20D D508 5760

Question Number : 39 Question Id : 8135612919 Display Question Number : Yes Is Question
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Mandatory : No

Which of the following is a non-symbiotic biofertilizer?

& 808 TS° DIPBID0 BEHI D AD) DA?

Options :
1. % VAM

Azotobacter

e 85 erE6
2. ¥ =

Anabaena
3 % DDT

Rhizobium

o8& Hobo
4, % =

Question Number : 40 Question Id : 8135612920 Display Question Number : Yes Is Question
Mandatory : No

Activated sludge have the abihity to seftle quickly so that it can
26 DIBahEo Gr{T WA WIDTEAN ST A6HE 5“;‘133“53‘1 $OA &otwoB?

Options :
Be rapidly pumped back from sedunentation to aeration tank
1 & B9 GN0 Adot) TPV POS Ql”ﬁné!:‘o DT Do DADEICETON

Absorb pathogenic bacteria present in waste water, while smking to the bottom of the seftling tank

R0 7o BrdidS) SDBYED Aol HOS° Bod TS erSBairen § oo
2. % .

Be discarded and anaerobically digested
_ ﬁﬁéﬁnﬁm@moﬁ SDBCIL TraGTrorT éga e9 )0
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Absorb colloidal organic matter
Sgrondd $6yd D) F SotSI0t108

4. %
Zoology

Section Id : 81356164

Section Number : 2

Mandatory or Optional : Mandatory

Number of Questions : 40

Section Marks : 40

Enable Mark as Answered Mark for Review and
Yes
Clear Response:

Question Number : 41 Question Id : 8135612921 Display Question Number : Yes Is Question
Mandatory : No
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Match the following?

AP EAPCET 2021

Column I

Column I1

i)  Biodiversity Hotspots

a) Minimally disturbed for the conservation of the resources

ii) Biosphere reserves

b) Specific endangered faunal species

i) National Parks

¢) A groove of frees of special religious importance

1v)  Sancfuaries

d) Biologically richest and most threatened terrestrial ecoregions

v) Sacred grooves

¢) A natural habitat strictly reserved for protection of natural life

$08 T8 28963087

Q0% 1

260 II

{) OGFES0D 26 e

1) Ashvsde Rodgedo 3 wvac, DAY pd( s

i) ESAY) WL Somen

b) eodBor)Yeiod) 08 2ot 2w NoBEd FomrLy

iii) &rdod &cbbw

) 308 Frangd o 38 Ao

Iv) aa{:oﬁfdw,gw

d) @e‘.‘isoé SRy Dd}ﬁ?’o&m‘l 8 mm,\g D a;‘:uﬁ

R0 T
V) aPdR S ) SREYY DG AWt WOES Wir
RE200 BTR0
Options :

1 % (i—a) (ii—b)(ili—c), (iv—d),(v—e)

AL
3.

4.

—d), (ii—a),(iii—e), (iv—hb),(v—c)

g (i—e),(ii—a),(iii—b),(iv—d),(v—c)

e (i—=b),(ii—a),(ii—e) (iv—d),(v—c)
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Question Number : 42 Question Id : 8135612922 Display Question Number : Yes Is Question
Mandatory : No

Match the following?

Sub Division Character Example

a) Acoelomata i) Coelom is formed by p) Mollusca
archenteron

b) Pseudocoelomata i) Without a body cavity q) Hemichordata

¢) Schizocoelomata i) Body cavity should not lined | r) Nematoda
by mesodermal layers

d) Enterococlomate iv) Coelom 1s formed by s) Platy helminthes
splitting of mesoderm

$08 T 2dH6DeC.”
&3 BB vERo (= AR Ls

1) Dok ) eBuede 2ol 08D D) S0
D000

b) faréimes’ e i) 366 &irdo FETSeAw Q) TSP

¢) & nd D l) S:rdo DRSNS 1) Ddote
B80S S0

) oBEITBr | V) DI DWEo Y6 | ) FHY08Y
0o D6Gbio

Options :
1 % (a—ii—1r),(b—iv—s),(c—iii—p),(d—i—q)

5 # (a—ii—s),(b—ii—r),(c—i—p),(d—iv—q)
3 ¢ (a—ii—s),(b—iii—r),(c—iv—p),(d=i—q)
4 % (a—ili—s),(b—ii—1r),(c—iv—p),(d—i—q)
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Question Number : 43 Question Id : 8135612923 Display Question Number : Yes Is Question
Mandatory : No

In a comparative analogy between the aeroplane and ecosystem the Rivet Popper hypothesis
used by Stanford ecologist Paul Ehrlich's. identify the correct matching?

Column I Column IT
1)  Rivets a) Ecosystem
i)  Aeroplane b) Species
i) Popping of a rivet ¢c) Key species
iv) Rivets on the wings d) Proper functioning of eco system
v)  Flight safety e) A species to become extinct

D6 HTS0 IS VS HAF A B 6 dyficioide ETdor B36m (S50
D0 Do HOTD3\E & $ob BB T HBotied.

2000 1 2tn 11
1) 028y a) esbdeabyﬁ;’g
i) Qardo b) o
iii) DR) 3o B 838 Forbe ¢) ol ardoen
Iv) 950 03 B8y d) es50m DR RS0 DBk
V) R00Edorm Jhde g) 2 Bodborit)

Options :
1 ¢ (—=b) (ii—a)(ili—e) (iv—c),(v—d)

9 % (i—b),(i—a)(ii—¢c) (iv—e),(v—d)
3 % (i—b),(ii—d),(iii—e) (iv—c),(v—a)

4 % (i—b),(ii—d),(iii—c¢),(iv—e),(v—a)
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Question Number : 44 Question Id : 8135612924 Display Question Number : Yes Is Question
Mandatory : No

Assertion (A): Biconcave shape of mammalian RBC facilitates gas exchange

Reason (R): Biconcave shape provides a high surface to volume ratio

TES (A): £66 6 ssTToS BERHErSS 95760 TPAINYY IAATAS I8 D DET)
Bolrold

00 (R): BEPS'0 65700 I8, &880 087 M@ SeuriEived

Options :
Both A and R are correct and R is the correct explanation of A

1@ A S0b6ciw R e Toccr 20 220050, R 2996 A & 208000 2500

Both A and R are correct and R is not the comrect explanation of A
A Sobodn R en Godr 20 @000, R 938 A S 260000 LS00 5°C0

A 1s correct but R 15 wrong
A DBHS 57 R o5

A 1s wrong but R is correct

4 % A 28570 570 R 2008

Question Number : 45 Question Id : 8135612925 Display Question Number : Yes Is Question
Mandatory : No

Arrange the following i the descending order of their number per cubic millimetre. present in the blood?

66 a8 20k DOt &) 055 Do BErdorr SRoed DG s wIbirn
g0 8608
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Options:
Erythrocytes — Thrombocytes — Neutrophils — Lymphocytes = Monocytes — Eosinophils — Basophils

Qﬁg@ﬁj = @085%9953 - f\‘ﬁ"sg 33?53 = Boﬁ"’gﬁb - ;31"5‘39@5\ - éafaSbeSD — 55%63
1 ) *\‘;’f [ n

Thrombocytes ~ Erythrocytes — Neutrophils — Monocytes — Lymphocytes — Eosinophils ~ Basophils
goﬁ”@ﬁh — 065@5‘3 = m}s@%&a - arS;Laﬁh - gogb:fgﬁ’) = QQ:)S:JQEJ - 5‘:}633053

Basophils — Eosinophils — Monocytes — Lymphocytes — Neutrophils — Thrombocytes — Erythrocytes

Eiﬁﬁ:ﬂh—' 63&132363 - ?D“S’Qﬁ) - acyﬁﬁb—i W&@_@%&sﬁ - \@“0856@53 - 3)6{3?:@&53

Basophils — Monocytes — Eosinophils — Lymphocytes — Thrombocytes — Neutrophils — Erythrocytes
2325"3363 - ﬁJ“SQﬁJ = éifOS:)QEJ - aogjﬁaﬁb—* ;;.E“r:)tﬁ‘S Qﬁh = W@ﬁz}ﬁg -+ aﬁéﬁ’ﬁﬁb

Question Number : 46 Question Id : 8135612926 Display Question Number : Yes Is Question
Mandatory : No
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Which of the following statements about muscles are correct?
(1) Muscles show three essential properties such as excitability. conductivity and contractility
(1) Muscular tissue is endodermal i origin except muscle of iris and ciliary body

(1) The cytoplasm of muscle fiber has several myofibnls

(iv) Skeletal nuscles exhibit slow and prolonged contractions

(

v) The regular arrangement of myosin and actin filaments is reasonable for altemate dark and light

bands of striated muscle

S0t Aotlolow) S08 ) HELRLL B BONR]
(1) SotTren Hure 03 VEFVR BAIT &dadio. Trsdlo dav %08 980 ;;caﬁﬁ"on
(it) Sotderas. 305 Bir Soktren &y S0l StaaFv0 BoB0S &do
(1ii) S0t Sodoen £ :Jm“gamﬂé ONE Jr&]“ié Sot0 Sodu)en Gotraw
(iv) B8 Soo DT BYS'0 8TV trdod Socido
(v) 9 ‘a}?i& 8060 Sod0B’ B¥D o8 e “:o&‘:cli) Sotd 't gmug:mm 000
Gotitlo 0% B8 08, A 08 il A6y Geraw

Options:
(i),(ii) & (v)only
1o (1), (i) & (v) g

(i),(iii) & (v) only
5w (1),(iil) & (v) Srgdo

(i), (i), (il ) & (v) only
5w (1), (i), (i) & (v) g3

(i),(iii), (iv) & (v) only

4w (1)), (iv) & (v) 20D

Question Number : 47 Question Id : 8135612927 Display Question Number : Yes Is Question
Mandatory : No
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Select the statement which 1s mmcorrect about the class Turbellania?
&d agﬁﬂir DS DotrodHow) DET) HSLD BT

Options :
Animals are free living or parasitic

- AEEy 2P T DR BP

Incomplete alimentary canal

, DR0rS 2OT o

They reproduce asexually by budding

DES” 20 F L) L0 WToNS DBVFENS BENDEE
3. -\“:j? ﬂ a —

Body wall has rod shaped bodies called rhabdites

4w 53‘“5)&?5995& oS CoeS” &) TR0 & :}Téﬁ“m &obTon

Question Number : 48 Question Id : 8135612928 Display Question Number : Yes Is Question

Mandatory : No
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Match the following and choose correct combination?

Column I Column IT
1) Cellular grade level a) Pheretima
i) Tissue grade level b) Schistosoma
ni) Organ level ¢) Obelia
iv) Organ system level d) Sycon

&i S06 B 2BV Dods Bobod.?

3605 1 S6H I
1) Snaw ag%sm a) DOBAr
lj) $mare Jaw ;35;:‘%5699 b) 2T
i) 25083 o ¢) &2dadr
IV) @500 515;@ gma d) 253

Options:

1 % (i=b),(li—e¢),(iii—d) (iv—a)

5 % (i—d),(ii—c) (ili—a)(iv—>b)

3 % (i—d),(ii—b)(ii—rc),(iv—a)

4o (i—d),(ii—c),(iii—b),(iv—a)

Question Number : 49 Question Id : 8135612929 Display Question Number : Yes Is Question
Mandatory : No
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Choose the correct combinations related to different larval forms?

AP EAPCET 2021

Column I

Column IT

Column I1

a) Ctenophora

1) Holothurian

p) Tomaria

b) Annelida

1) Pleurobrachia

q) Veliger

¢) Mollusca

11} Balanoglosus

r) Trochophore

d) Echmodermata

iv) Aplysia

s) Cydippid

¢) Hemichordate

v) Nereis

t) Auricularia

DA TrTP(E DotioBot) BAVH SVANSVR dodE Bobed.?

S0 1 2n II S0 11
a) 36 ) FSartair p) érd)Bair
b) e if) 3P0 gpdose q 20u6
) 0 iff) BOSTRD r) 65806
d) wgSaoyer iv) dodosr 5) NADE
e) TS v) DB f) &8y gbair
Options :

1_#[a—ii—s},{'b—v—1‘),[_c—iv—q),{d—i—t},(e—iii—p]
g (a—iv—p)(b—v—r)(c—i—t),(d—ii—q),(e—iii—s)

2.

3 % (a—il—s),(b—iv—r),(c—v—q),(d—i—t),(e—iii—p)

4% Ca—i—p)(b—v—r) (c—iv—q),(d—ii—s) (e—iii—t)

Question Number : 50 Question Id : 8135612930 Display Question Number : Yes Is Question
Mandatory : No
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Male has a brood pouch in
2 o &DS° (126 Wow) Gobwod?

Options :
Kangaroo

Hippocampus

o e Eo
- mﬁﬁhsﬂoaﬂ:

Penguin
REINS]

Ostrich
85D
s

Question Number : 51 Question Id : 8135612931 Display Question Number : Yes Is Question
Mandatory : No

The nerve cord of chordates is

SO 2PV TEGBoto

Options :
Single. solid. mubular and non-ganglionated

- 2,8 2,58, Eéw. TVSTCorT 20BAI TE DodGITSaT

Double. hollow. tubular and non-ganglionated

- B oagorT, %enrr, SrPsTaiudor Subakin TC PoOOITSorT
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Single. hollow. tubular and ganglionated

_— 2,28, 5T, TUTTORDGOIT SA003) TG DodRITDrT

Single. hollow. tubular and non-ganglionated

4 v W8 2,869, e5'enr, S¥sToinGer Hbain T PodGIFSerT

Question Number : 52 Question Id : 8135612932 Display Question Number : Yes Is Question
Mandatory : No

Ascidia belongs to the subphylum
DE0IT” @ E;');ﬁ%i-o B2 DooBowHd?

Options:
Urochordarta

- mb?gw

Cephalochordata
DS 570

Craniata
S0

Unichordata

charDsS oL
4, % &

Question Number : 53 Question Id : 8135612933 Display Question Number : Yes Is Question
Mandatory : No

In which of the amimal dimorphic nuclens is found?

S0l TS Babodw BLEIDS SodSe SV
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Options:
Paramecium caudatum
1 & f)“ﬂ“h)zlﬂi:ln SeG)o

Amoeba proteus

5 % eoer Yo%

Plasmodinm vivax

- U cade D8,y

Tryvpanosoma gambiense

BHIT' a7 oIy
4, %

Question Number : 54 Question Id : 8135612934 Display Question Number : Yes Is Question
Mandatory : No
Choose the correct statements related to binary fission of paramecium?
(i)  During favorable conditions paramecium stops feeding after attaining its maximum growth
(1) At first the micronucleus divides by amitosis and the macronucleus divides mto two
daughter nuclei by mitosis
(ii1) The proter receives the anterior contractile vacuole. cyto pharynx and cytostome from its
parent individuals

(iv) Before karyokinesis a transverse constriction appears in the middle of the body

565050 BUErdN 38 Dotofiot) WG HSLRVRD fhBotted.”
i) 26dvhaso v BRI\ o B8 3o B
(1) 20068 r’\li“iéﬁogﬁo é)gJé;r?afo T, ArY IR BT ) DHa Boddeed
(iif) 06 Qoo 08T B8R S g:o:)b. g2 00ar Ry 88 82 dood) Tockoehoodd
(iv) S"BAIrERANR Swodd Grtiod” 8 S8y, D6\

Options:
1. %
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Except ( iv ). all are correct

(iv) 8Dy, DADID &) VBH.

Except (ii ). all are correct

, o (11) 82y, DoABID ) DBHD.

Except ( ii ) and ( iv ) all are correct
, o (i) 208050 (iv) 823y, DADBD &) HFHD.

Only (1) is correct
4« SV (1) SrSD VTG

Question Number : 55 Question Id : 8135612935 Display Question Number : Yes Is Question

Mandatory : No
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Match the following options gives the correct matching of the decease with its causative

organisim and mode of mfection?

Disease Causative organisms Mode of infection
(1) Typhotd Salmonella Typhi with nspired air
(11) Pneumonia Streptococcus droplet infection
preunonia
(111) Elephantiasis Wuchereria Bancroft Infected water and food
(iv) Malana Plasmodmm Vivax Bite of male anopheles

D"g@ — J"éﬁ 250 — Nogalol AETRNoNL Motlolol) Sob TG’ WTR AR dodE Bobod?

T T(B a0 Dogod N0
(i) Oarané T3 G & 300 9
(ii) Roardodr :agﬁi-fsfa ArErdolr | dbow oo
(1ii) 2Doiodran 5;36055" mg":g denndd A
(iv) 2801 Qjﬁ“édcmn DTSy 20 dT R ixo Sy
Options :
(i) only

1 % (1) 258

(ii) only
, o (i) 2rgdo

( iii ) only
o s (i) 383

(iv ) only

Question Number : 56 Question Id : 8135612936 Display Question Number : Yes Is Question
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Mandatory : No

1
In the given diagram of the Trophozoite stage of 7
entamoeba identify parts labelled as 1,2,3,4,5,6
and select the option? 3
& Sots AS(AS Jotae o), TS B8 Mot
1,2,3,4,5,6 2Pre)d0 ABod) 988 DATETH0R) A
QoS Wobot”

5

b

Options :

1 - Pseudopodium. 2 - Endoplasm. 3 - Ribosome. 4 - Cartwheel shaped nucleus. 5 - Food vacuole with RBC.
6 - Ectoplasm
L - Errcio. 2 - 80802 (P00, 3 - 01 ED. 4 - s igo 5" BogiSo, 5 - dgogserod drdd uike

R L

1 - Psendopodium, 2 - Ribosome, 3 - Endoplasm. 4 - Food vacuole with RBC. 5 - Cartwheel shaped nucleus.
6 - Ectoplasm
1~ doerfindio, 2 - B8R0, 3 - oo ddfepuo. 4- Jgogemod &rd wife 6885 - tod tigo 650

- SotiSo. 6 - e ) 8350

1 - Pseudopodinm, 2 - Endoplasm, 3 - Ribosome, 4 - Food vacuole with RBC. 5 - Cartwheel shaped nucleus.
6 - Ectoplasm
1- n)m“l@"c.‘m. 2- mga Bayreo. 3 - 068, 4 - JgogEmTRd &rdd Bte 848, 5 - ol o 56

otiS0. 6 - e 8 @30
3. %

4, %
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1 - Pseudopodium, 2 - Ectoplasm, 3 - Ribosome, 4 - Cartwheel shaped nucleus. 5 - Food vacuole with RBC.
6 - Endoplasm
1- ﬁ)c_rigﬁ“do. 2-erir| &5 §3fo. 3 - 06", 4 - taod 1880 655°0 Bogito, § - AIOGETUS &rds BiFd

885, 6 - 9080 §3(reo

Question Number : 57 Question Id : 8135612937 Display Question Number : Yes Is Question
Mandatory : No

Match the following related to effects of parasites on host?

Parasite Effect on host Host effected
a) Sacculina 1) Hypertrophy p) Sheep
b) Larva of Fasciola i) Hyperplasia q) Snal
¢) Plasmodinm 111) Parasitic castration r) Carcinus
d) Fasciola hepatica iv) Gigantism s) Man

ddany D6 DT L HEFSeIL dotodod) ob T 2ELGE?

;’Ju"saléb AR Dardo VeS8 wdE0N
) T ) o6& p) Ko
b) FRErY T i) FH6F Nair q o8
c) FJ)ciaso i) DR BT | 1) TOII
d) Faoirer s iv) edsTodd 5) PR

Options:
1 % (a—iii—r), (b—ii—p), (c—i—s), (d—iv—q)

5 % (a—iv—r), (b—ii—p), (c—i—s), (d—iii—q)

3 ¢ (a—iii—r), (b—iv—q), (c—i—s), (d—ii—p)
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4 % (a—iii—1r), (b—ii—p), (e—iv—s), (d—i—q)

Question Number : 58 Question Id : 8135612938 Display Question Number : Yes Is Question
Mandatory : No

The inner surface of labrmum of cockroach bears

.‘.‘.5“%@5 E.n?”?);n 5708 Sewo DO <OA Eotnod?

Options :
Gustatory Sensillae
- TGS DAygTen

Olfactory Sensillae
- =3
RT°E DT

Nasireceptor Sensillae
T TS DAY

Chemoreceptor Sensillae
GO TS DT

Question Number : 59 Question Id : 8135612939 Display Question Number : Yes Is Question
Mandatory : No
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Match the following?

ListI ListII
1) Proventriculus a) Anterior chamber of preoral cavity
i) Cibarium b) Stomodaeum
i) Hindgut ¢) Enzymatic digestion
iv) Foregut d) Real Absorption of water
v) Mesenteron ¢) Grinding food
S0d TR addotses”
B.E.} I B.‘f:_}:t I
i) QPeg fociow 2608 a) SO B0k &) 6| DTbo
i) ~ebado b) AP0
iil) BT F6TYo ¢) oBD v a‘&géoﬁ:
iv) QPOEPOTYo d) A HdF o
V) mt;i“?sqg}o e) Dokad

Options :
1« (i—e), (ii—a), (ili—d), (iv—b)&(v—rc)

s % (i—e), (ii—d), (ili=b), (iv—c)&(v—a)

3 % (i—e), (ii—a), (ili—e¢), (iv—h)&(v—d)

4 % (i—=Db), (ii—a), (ii—c), (iv—e)&(v—d)

Question Number : 60 Question Id : 8135612940 Display Question Number : Yes Is Question
Mandatory : No
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The minimum proportion of impurities that made the drinking water unfit for human

consumption 1s

S0 dodd Anods” 200Tw T A’ Swido 2 & A G A MIAFTIS
QArDAr o )BT 0w’
Options :

1.0 percent
1 % L0780

2.5 percent
5 % 2.5%do

0.1 percent
3 ¥ 0.1 3o

0.01 percent
4 % 0.01 7o

Question Number : 61 Question Id : 8135612941 Display Question Number : Yes Is Question
Mandatory : No

Light 1s an ecological factor that shows its mfluence on many biological activities like

pigmentation, metabolism ete. cave dwellers exhibit

5708 T°908% S50 St SV T Verdo 560, S5509e0 GO0V wojR
SAVRVE. (rel” 2ot 2PLD & S8 VIEFY) NGO v@’cm‘?

Options :

Low pigmentation. high metabolism
| B 360, 0B £330
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High pigmentation. low metabolism
©BS Sdo, By 23500

High pigmentation. high metabolism
, B8 300, 06 £380D

Low pigmentation. low metabolism

B8 S5 Sdo, BV 25505
4.v &

Question Number : 62 Question Id : 8135612942 Display Question Number : Yes Is Question
Mandatory : No

Fluoride pollution initially atfects

'oé srevije Ao B e Hardo WIH?

Options :
Heart
popaTontl.]

Kidneys
Srdaote)

Brain
SHEES

Teeth
4 @ GoTP

Question Number : 63 Question Id : 8135612943 Display Question Number : Yes Is Question
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Mandatory : No

Assertion (A): Landscape 1s the unit of land containing different ecosystems surrounded by

natural boundaries

Reason (R): Landscape 15 the level of organization which is higher than ecosystem
TGS (A): drd0 08,8 TS PATROT ol WiFH VTGS &rdd DG 6570
BT 08 V0K S8 &otwod

560 (R): Zrde D88 ;55;5%5639 oo 568 ;‘:5;55@} g8 D g%ma‘i“ Eotnod

Options :
Both A and R are correct and R is the correct explanation of A

- A S08c30 R e Toccr 20 220050, R 0958 A S 20008 L5062

Both A and R are correct and R is not the correct explanation of A
A S08aiw R e Todr D8 200D, R 0938 A S 2deand D566 st

A is correct but R is wrong
A DBHE 57 R 2oz

A 1s wrong but R 1s correct
A DB5°c 570 R D0HE

Question Number : 64 Question Id : 8135612944 Display Question Number : Yes Is Question
Mandatory : No

Sewage water can be purified by
22008 DB So8 THS° B &DATrHD TG BODSEN?

Options :
Penicillin

| % :J:JJE)-E)
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Fishes

5 % DOW

Aquatic plants
_ bﬂm%m

Micro organisis

S &
Ly ENE o)X

Question Number : 65 Question Id : 8135612945 Display Question Number : Yes Is Question
Mandatory : No

Biological equilibrium 1s found among the
o0& TS 2o ﬁmﬂ“fgﬂ:} oBotiot?

Options:

Producers and consumers

- GO\ SO 8L DAL EM

Producers and light
, % &\ SErden Sdoin 5Ted

Producers. consumers and decomposers

&S\ SO, QDAAr AR Sodain Klrﬁ‘ha‘ls“d)w
3.¢ -

Producers and decomposers

&S\ Sordien Sdosw Dﬁ&r‘:}i's"mm
4. % P -
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Question Number : 66 Question Id : 8135612946 Display Question Number : Yes Is Question
Mandatory : No

Assertion (A): Anaerobic respiration vields less energy utilizing oxygen
Reason (R): In anaerobic respiration, energy is released due to incomplete breakdown of

organic molecules

TGN (A): Uébabm DRairfethE A erain ?S“faéob g Qb‘éﬁ 33 DO BRved.
s°00o (R): ®arain ?Sr’oé,uﬁjé" 5630 SEPL) YAOFOT :J&Qalo dobeto H #S
DEIEVB)BR0B.

Options :

Both A and R are correct and R is the correct explanation of A
A 08030 R 2 Todtr 208 2200309, R 0936 A § 280 D506

Both A and R are correct and R is not the correct explanation of A

5 % A 28030 R e Todtr D6 @905, R 998 A $ 28e900 2500 S

A 15 correct but R 15 wrong
A 2008 572 R 2o

A 15 wrong but R 1s correct

4 A 20570 570 R 20206

Question Number : 67 Question Id : 8135612947 Display Question Number : Yes Is Question

Mandatory : No
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Match the following related to respivatory volumes and capacities?

Column I Column IT
1) Tidal volume a) 2500 to 3000 ml of air
ii) Inspiratory reserve volume b) 1000 ml of air
1) Expiratory reserve volume ¢) 500 ml of aur
iv) Residual volume d) 3400 to 4800 m! of air
v) Vital capacity e) 1200 ml of air

TR DSHBIrETe, 3“.‘.133“ 0L NoZoBow) Sob TR 2AIGIR?

\ 3
S0 - 1 S - 11
) OGS T a) 2500 &00d 3000 .0 & Y
L) 6 QB 0BT b) 1000 Do md
i) DT D 2R0BATE0 ¢) 500 ndomd
V) en% WAN0ST0 d) 3400 000 4800 .9 © d
LT &) 1200 0.domd

Options :

1 % (i—¢), (ii—d), (iii—b),(iv—a) & (v—e)

5 o (i—e),(ii—a),(ii—b),(iv—e)&(v—-4d)

3 % (i—c),(li—a)(ii—d) (iv—e)&(v—Db)

4« (i—e) (ii—d) (ii—b)(iv-—a)&(v—rc)

Question Number : 68 Question Id : 8135612948 Display Question Number : Yes Is Question
Mandatory : No
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Match the following related to cardiac cycle?

ListI List IT
1) Cardia Cycle a) 0.2 Sec
i) Atrial Systole b) 0.4 Sec
ii1) Ventricular Systole ¢) 0.18ec
1v) Cardiac Diastole d) 0.8 Sec
e) 0.3 Sec

;‘Jﬁgs 00N Dolodow) Sodd TN RSN

931 o1

i) 208 Swate a) 0.2 s
ii) $85® DoEso b) 0.4 2E
iii) 236880 2ot ¢) 0.1 2E
Iv) 788 DIyGo d) 0.8 28
e) 0.3 280

Options:
1 % (i—d), (ii—e), (ili—Db), (iv—e)

, o (i=d), (ii—c), (ili—e), (iv—b)

3 % (i—=b), (ii—¢), (ili—e), (iv—d)

4 (i—d), (ii—a), (iii—e), (iv—b)

Question Number : 69 Question Id : 8135612949 Display Question Number : Yes Is Question

Mandatory : No
AP EAPCET 2021
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Mark the wrong match

ST 2S3DBD AR Botdod.?

Options :
PCT — Absorption of Na* and K7 ions

, u HET- Na™ 208030 K+ esairsve $imo

Henle’s loop — Concentration of urine
, & IS0 — Aardo LTS

DCT — Absomption of glucose

5 » DCT - 688 T

Bowman's capsule — Glomemlar filtration

4 % aﬁ“;.‘m&b Mes — (ﬁtﬁaﬂ“ﬂrﬁn

Question Number : 70 Question Id : 8135612950 Display Question Number : Yes Is Question
Mandatory : No

A certain road accident patient with unknown blood group needs immediate blood transfusion.

His own doctor friend at once offers his blood. What was the blood group of the donor?

8 68560 30D B HATE BRI SoorT dgo A 030 BI00 God. BB
DA ) P 50 28D Trdo BAWLE BoiSBoBd. WONT & J5ErS aS), 65
bgo
Options :

Blood group AB

AB ds 200
1.% ="n
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Blood group B
. B 68 260

Blood group O
3 ¢ O 65 6o

Blood group A
A OS 200
4. % = n

Question Number : 71 Question Id : 8135612951 Display Question Number : Yes Is Question
Mandatory : No

The part of sarcomere that contains both thick and thin filaments are present in

i) bDJt:ﬁJS D) 2PA08 G0 BoduDen, HRUB Sod) Tobotd) DA dotron?
Options :

*A° band on either side of “H™ zone

o H Bocerd$ aiper &8) edd DO DY o

‘I" band on either side of *Z’ line

L« L 908 Rcpper 63) DM DFCS £8 artio

Hensen's disc on either side of *M’ line
- M’ G938 RARDYY" &) T 6, erfio

The Isotropic band

, P D6 D
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Question Number : 72 Question Id : 8135612952 Display Question Number : Yes Is Question
Mandatory : No

Assertion (A): In myelinated nerve fibers action potentials are conducted at a faster rate
Reason (R): The myelin present between nodss of Ranvier has concentrated Na and K voltage

gated channels

T6% (4): 200D BeryGod drdd e doduud” 6 PGP0 20808 Srorr
B0,

5o (R): T atd stpr 65 SO &b 0 Na LBokw K 3 g% (06 e,
o5 B0 B0,

Options:

Both A and R are correct and R 1s the correct explanation of A
A S0basi R e Godir 00 20000, R 2938 A & 20000l D6

Both A and R are correct and R 15 not the comrect explanation of A
A 28030 R e Tt 20 20000, R 6936 A § 2800 D508 570

A 1s correct but R is wrong

3 @ A D0HE 57 R 20

A 1s wrong but R 1s correct

4 % A 28570 572 R 2008

Question Number : 73 Question Id : 8135612953 Display Question Number : Yes Is Question
Mandatory : No

Identify the hormone with 1ts correct matching of source and function
S8 éﬁ. &3S B0 daI0 D& BTG Sod TS’ HTHG ABoriyaw?

Options :

1. %
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Atrial natriuretic factor — ventricular wall — increases the blood pressure
D0DS DHCIBOS S°6%0 — 2EOS HE — 6% Do Dothd

Progesterone — Corpus luteum — stimulation of growth and activities of female secondary sex organs
TEYTS - $6)0 aryae - 06 Bdab Johs wIAHTY dAE wBai &z
2.% ~® ~ e = =

Melatonin — pineal gland — regulates the normal rhythm of sleep walk cycle

L o D0EDS HICDHES o — AT DD Swairdy daboded) §3FHRES

Oxytocin — Posterior pituitary — growth and mamtenance of mammary glands

4w EHEDD - D6 BArB - S6Metw DENLBY WBALY T Eo

Question Number : 74 Question Id : 8135612954 Display Question Number : Yes Is Question
Mandatory : No

Which of the following endocrine gland stores its secretions in the extracellular space before
discharging 1t mto the blood?

808 TG’ D BodT 98 Hofd B FTLN 6506S DEBL B S0 S HB%08"
QR0

Options :
Thyroid
| DTOVE

Adrenal
5 % VRS (0BI5))

Testis

3 % .:in:ii“bw
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Pancreas

s n 00

Question Number : 75 Question Id : 8135612955 Display Question Number : Yes Is Question
Mandatory : No

Identify the complete and correct sequence in the passage of spermatozoa?
Fogsrren HOIrHiod SERSAT) oAt o ;ﬁrg"f\'}i H2BotSod.?

Options :

Semumferous tubules — Rete testis — Vasa efferentia — Vas deferens —+ Epididymus — Ejaculatry
duct — Urethra
mgwﬁas Tese0 — B8 o0 ~ NETVSD ST L) — JDGUGAR R UITYo

Hgo = 0 QD
=

Seminiferous fubules — Rete testis — Vasa efferentia — Epididymis — Vas deferens — Ejaculatry
duct = Urethra — Vagina of female
08 T8 TYse0 — B8 0 — NETIS DIGEDDR — FST TS — R UITYo —

9950~ Q AIrd
2.

Seminiferous tubules — Rete testis — Vasa efferentia — Epididymis — Urethra — Vagina of Female
208or\08 T8 — B Ao — BT - IDAEDY - PR é ard

Seminiferous fubules — Rete testis — Vasa efferentia — Ejaculatry duct — Vagina of female
#oETr\68 T8 — B iy 0 — NETVW  — YUITH  — ?g ard

Question Number : 76 Question Id : 8135612956 Display Question Number : Yes Is Question
Mandatory : No
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Match the following and chose the correct combination?

ListI ListII
i) Inguinal canal a) Ternunal skin of Penis
i1) Prepuce b) Cells encircling Oocyte
i) Leydig cells ¢) Connect abdominal cavity and cavity of scrotal sac
1) Dm.m d) Testosterone production
proligerus
e) Activating the sperms

806 T 28960, T DAFTH0 oS Baod?

01 o 11
1) Toih TVo a) DTN Ederrs &3) )0
11) =006 ei6)o b) ©odard,Sto Gr &) SETeD
iii) DA gren Q) G686 Ty oy ied Hirdod swko

iv) GRS TR d) 8T 638

g) ESTOUD QM’,S" wobdo

Options:
1 » G—c)(ii—a),(iii—d),(iv—-b)

5 % (i—a),(ii—e) (iii—Db),(iv—d)

3 % (i—b),(ii—a),(ili—c) (iv—e)

4 % (i—e),(li—e),(iii—d), (iv—Db)

Question Number : 77 Question Id : 8135612957 Display Question Number : Yes Is Question

Mandatory : No
AP EAPCET 2021
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Arrange the phases of menstrual cycle in correct order
1) Proliferative
2) Menstrual
3) Ovulatory
4) Secretary
GodotSo Hodd DG SV DHEXD SH008” wnrﬁaoci.
1) TOHOLD &%
2) BBOFS &%
3) wolldg &%
i
1) Fos &3
Options :
1 v2,1,3, 4

,x1,2,3,4

Question Number : 78 Question Id : 8135612958 Display Question Number : Yes Is Question

Mandatory : No
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Match the following and choose correct combination related to blood groups of Man?

ListI List IT
1) Sensitized Mother a) Number of genotypes for multiple alleles
1) HDNB b) With memory cells for D —Antigen
i11) Isoagelutinogen ¢) Antibody of other individual. but same species
1v) Isoagglutinin d) Antigen of other individual. buf same species
V) n(":l) e) IgG antibody

AR 08 a?ve‘o Rotiobiow) Sobs TER 28I VT VIFFT Vo Jos Bodoc.?

01 o I
i) )date Bobd &Y 2) ol DSer\L A0S, ARV EPFR Do
ii) HDNB b) D -8 2% 565 2 28rre
i) 2 ArdSad c) 8 28 Bobd B I3 pOBLw
iv) YIS d) 28 288 Bodd 8¢ I8 DI2dTW
9 “U;” e) IgG 9o dero
Options :

1 % (i—d),(ii—¢c) (ili—e),(iv—Db),(v—a)
> % (i—c), (ii—d),(iii—e),(iv—Db),(v—a)
. (i—d), (ii—e) (ili—a),(iv=b),(v—rc)

3.

4 ¢ ti—Db) (ii—e) (ii—d),(iv—c),(v—a)

Question Number : 79 Question Id : 8135612959 Display Question Number : Yes Is Question
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Mandatory : No

In a certain taxon of insects (Example: Cockroach). some have 17 chromosomes and the others

have 18 chromosomes, The 17 and 18 chromosomes bearing organisms are

8 DB 6N ssed (e 1§'8ose0) §9) 17 Ears 20vd DAY 18 §arE awus
DR dobron. ond 17 8oy 18 §ars s SDAD dden St

Options:
All males
) DO BHLW

All temales
&
©d) RaHen

Males and females respectively
SERMT LHED SBAID A EHew

Females and males respectively
SEITT D BT P BPew

Question Number : 80 Question Id : 8135612960 Display Question Number : Yes Is Question
Mandatory : No

AP EAPCET 2021



AP EAPCET 2021

Inheritance of which of the following traits 1s shown in the given cross?

w8 vEne Brhd fa.::seada Deor 930958 Boibond & vgno’

XY X XXE
Normal Man Carrier Woman
Fpon dod RS
XX Xxe XY XY
Normal Daughter Carrier Daughter Normal Son Diseased Son
Fetin HArY Fird H373 et HARGXD T &8) DA

Options :
X - linked dominant tratt
X - drody mi:“gej wE 0

Autosomal recessive trait
Birs Eard’ane wodds vgo

X - linked recessive trait

X - *&::?udl 900 L E80
3.¢ =

Autosomal dominant trait

. girs Eard swe wirds vgno

Physics
Section Id : 81356165
Section Number: 3
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Mandatory or Optional : Mandatory
Number of Questions : 40
Section Marks : 40

Enable Mark as Answered Mark for Review and
Yes
Clear Response:

Question Number : 81 Question Id : 8135612961 Display Question Number : Yes Is Question
Mandatory : No

The scientific principle involved in ‘Laser’ is

‘Tad & oDy DS drdo

Options :

Newton's laws of motion
wy& (2080 DadaTeen

Faraday’s laws of imnduction
OG0 Doaren

Motion of a charged particle in an electromagnetic field
Sm‘gcﬁoﬁ:fﬁ“&o@ ES2006° DTS SEad WS, VDI

Amplification by population mversion
2T D' o HY S°ed 5685200

Question Number : 82 Question Id : 8135612962 Display Question Number : Yes Is Question
Mandatory : No
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If the energy E = G hc" . where ‘G’ is the universal gravitational constant, ‘¢” 1s the velocity

of light in vacuum and “h’ 1s Planck’s constant. The values of p. q & r are respectively

38 E=Gh'c" oand, 986 6’ eR0Rd DG MoeEdn Horosay, ¢’ ek0ke
ARG 5708 i ok T’ BRVG o8 EU“DSQ‘J}J. P, q 200050 1 dewden

lobrslop
Options :
=31 1 & 3
1v 2 25 2
i __1 &__5
2 ® 2 2 2
-1 4
—_— & —
3.% 2 2
L =i -3
4% 272 2

Question Number : 83 Question Id : 8135612963 Display Question Number : Yes Is Question
Mandatory : No

The velocity-time graph of an object is as shown. v

The displacement during the interval 0 to ¢, 1s

SR03) ), MAN-S 03 D erondds. 0 0 ; n T
0d £, SRISBE' 310 ot /

Options:

area(4) +area(B) + area(C) + area(D) + area(E)
- (4) DT + (B) DT + (C) PTO[E0 + (D) PTO[W + (E) DTV
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area(A4) — area(B) + area(C) — area(D)

- (A) DT VD0 — (B) DTV + (C) DT O — (D) DTOLH0

area(A4) + area(B) + area(C) + area(D)
- (A) LTV + (B) LT VW + (C) DT OO0 + (D) DT VO

area(A4) —area(B) + area(C) + area(D) + area(E)
n (4) DTV — (B) DTV + (C) STOAW + (D) DTV +(E) STV

Question Number : 84 Question Id : 8135612964 Display Question Number : Yes Is Question
Mandatory : No

The resultant of the two vectors A and B is perpendicular to the vector A and 1ts magnitude is

equal to half of the magnitude of vector B . Then the angle between A andB is

A 200080 B Botsd 2680 HDS 209 4 2835 otA0TT Sotbod, T HBAFHAL 263
B 8:5rmnd’ orin Gotbod. 0:)t A @By B 163w o) Sy

Options :
1, % 30°

5 % 45°
3 v 150°

4 % 120°

Question Number : 85 Question Id : 8135612965 Display Question Number : Yes Is Question
Mandatory : No
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Att =0 s. an object at origin has a velocity v = ( 20 +4] ]m.s'l. If it 15 acted upon by
an acceleration a = ( i—-3] )m. 572 for a duration of 6 seconds, find ifs coordinates af the

end of t = 6 seconds.

£ =0 D8P 36 2ot 6 w8 S0P ag) Jov = (21 +4] JmsL v
St e a=(1-3] )m.s™? &xomo 6 28800 Ft 5 B, 6 S0 SOTS ©

DY) AWE), AEFDTW
Options :

1 % (15,—15)

> % (45,—30)

3 % (30,—45)

4 (30,—30)

Question Number : 86 Question Id : 8135612966 Display Question Number : Yes Is Question
Mandatory : No

A body of mass 2 kg moves with an acceleration 3 ms ™, The change in momentum in one

second 15:

2kg @.‘.I}SU“'? o S 3 ms 2 ejsdeaang deenshood. ws X’ gaﬁéﬁnné‘ 4 ;55°de
wodh?

Options :

2 :
—kgms 1
3 4

1. %

3
—kgms™t

2. % 2
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L e -
3 ¢ 6kgms

4 % Skgms™

Question Number : 87 Question Id : 8135612967 Display Question Number : Yes Is Question
Mandatory : No

When a lift of mass 800 kg is ascending with an acceleration of 5m. s>, the tension in its

cable will be take g =10 m.s7%)

800 kg ST 88AR w8 Y 5m.s7° S(Biod D8 hendr Gof, &1 &' SO
(g=10m.s 2B ed)

Options :
1 % 6000 N

5 » 12000 N
5 % 4000 N

4 % BON

Question Number : 88 Question Id : 8135612968 Display Question Number : Yes Is Question
Mandatory : No
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Two particles of equal mass ‘m” are connected by a spring of force constant *k”. The spring 1s
compressed through a distance ‘x” and released, As the spring elongates if it breaks. find the

velocities of particles?

R @302 ‘M’ (0 Gotd) ST ‘K’ 0 Eamosan (10 ol B VorTAetIEIA. &8 o
X PG Donddn Fodod) D ﬁtﬁ)gmdéé. 30f) & ﬁ"ﬁé?aé:a:)d} maé‘lan
BoBde00d, 580 sy, A0 SAHH07?

Options :

1.

-If
” ’_
m

%
” ’_
m

3. %
' k
2x |—
m

4, %

Question Number : 89 Question Id : 8135612969 Display Question Number : Yes Is Question

2.

I
e

Mandatory : No

A stationary object breaks mto two pieces A and B of masses 6 kg and 8 kg respectively. If

the velocity of B is 6 m.s . then find the kinetic energy of 4.

WS AW fg@aﬁ“ &) DY 6 kg obakw 8 kg @aforsoe (o A Sodaiw B 99 Ootd
g e dé.cTomod. B ohog), Sam 6m. 57, edych 4 diwg), (8238
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Options:
1.% 48]

, @ 1927

3 % 24 1]

4 % 2887

Question Number : 90 Question Id : 8135612970 Display Question Number : Yes Is Question
Mandatory : No

Match the following?

S$08 T 2SDEHVSA0T

Column-1 Column-I1
{ El.} Fn et s dK
(1) P
F;JE}@ dt
“—” E:‘ons _
(1n) AU+ AK
Fi’)ﬂées
(c) Z Waon-cons —dlU
(111)
E Wﬁﬂsﬂsn 5 dx
(d) Power | dP
&mgé & (1v) 7y
Options:
1 (a—iv),(b—iii),(e—ii), (d—1i)

, & (a—iii),(b—ii),(ec—ii), (d —ii)
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5 % (8a—ii),(b—i),(e—iv),(d —iii)

4w (a—ii),(b—iii),(e—1i),(d—iv)

Question Number : 91 Question Id : 8135612971 Display Question Number : Yes Is Question
Mandatory : No

A constant torque acting on a uniform circular wheel changes its angular momentum from 14,

to 5A, to 1 6 seconds, Then the magnitude of torque is

D568 HTTE 58 s DO &G, HABD T Eeda @I 6 sec 08" 14,

ot 54, % arbob. EJ“EG aios), 20273200
Options :
2

— A
1w 3"

—
)% 47

3 % 4 A,

4w 124,

Question Number : 92 Question Id : 8135612972 Display Question Number : Yes Is Question
Mandatory : No
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The kinetic energy of a rolling ring of mass 0.3 kg about an axis passing through its center of mass

and perpendicular to is plane. if its center of mass is moving with a velocity of 8m s~ is

0.3 kg g3 &n, B5{0°2 Soglo ot TAF, 368 VotlolT ol B0 DGO SosHAN
aIwe) 04 (6073 Sog Sriw= 8ms™!)

Options :
1. % 11.27

, »19.27

4 % 327

Question Number : 93 Question Id : 8135612973 Display Question Number : Yes Is Question
Mandatory : No

A nigid solid sphere is spinning around an axis without any extemal torque. Due fo change in

temperature, its volume wcreases by 1%. Then its angular speed

B 06, GE0G 8 GyeRod 200 YW o Soddw or(or Tdod) e dm HeJwT ed)
Boomns" 63)6. & d0d" Srdy S0 o 8 B84 1% 26A88. Srlab 36

Options:
Increases nearly by 1%

| % ™ 1% 26

Decreases by 1%
1% &
2. % n

3.¢
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Decreases by nearly 0.67 %
o 0.67 % ag:m

Decreases by nearly 0.37 %

4 % o) 0.37 % SChao

Question Number : 94 Question Id : 8135612974 Display Question Number : Yes Is Question
Mandatory : No

Two 1dentical springs are connected to mass m as shown (k =

spring constant), If the period of the configuration in (1) 1s 2s. k
the period of the configuration (ii) is:
. ‘ k Sk
Bocth) ROGRST ofi €0 G303 m & HE” aradeor
RogrRousweran. (k =yef f’gc**osan) (1) 02008 cg), m
569 0 25 wand (i) ©2008 G0E) 836D SV ) (i)
Jodh?
Options:
2.v 1s
1
— 5
3 % V2
4. % 2V2s

Question Number : 95 Question Id : 8135612975 Display Question Number : Yes Is Question
Mandatory : No
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At a distance 320 km above the surface of the earth. the value of acceleration due to gravity will

be lower than its value on the surface of the earth by nearly (earths radms= 6400 km )

7 6288030 od 320 km ABoS" AAB(B(ER FP &HBSLAD ME T Devd
Sot) 8 ST ol TEZW (@ 630 6400 km)

Options:
1.% 2%

2.% 6%

4. i@ 1"‘1‘ EH}

Question Number : 96 Question Id : 8135612976 Display Question Number : Yes Is Question
Mandatory : No

Two objects of masses 4 X 10*® kg and 9 x 10% kg are placed 10*° m apart. The
gravitational potential at the point of zero gravitational field. created by these objects 1s
[6G=667%107" N.m%kg™?]

4 X 10% kg 208080 9 X 10% kg @5(0730w0 (0 Botd S0P 104 m &rded”
Godtae ). B ASES0 &) Dot S s TS
[G =6.67 X 1071 N.m% kg~?]

Options :
| % 33.3%x10% Lkg™

= 17 =1
, » —L167 x 10V J.kg

3 % 16.67 x10%° TLkg™"
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4 % —333x10% Lkg™

Question Number : 97 Question Id : 8135612977 Display Question Number : Yes Is Question
Mandatory : No

A force of 500 kg. wt can break a wire, What 1s the force necessary to break another wire of the

same materal and same length but of half the cross-sectional area?

500 kg. wt e 28 8600 D) S0 Bod. ©F :Jm"g:mS Bo 08 T 508 V(e
27030 13w ¢8R 28'S AN ) 20 BoHEIS dod LW FIT?

Options :

1 % 500 kg.wt

5 & 250 kg.wt

3 % 1000 kg.wt

4 % 750 kg.wt

Question Number : 98 Question Id : 8135612978 Display Question Number : Yes Is Question
Mandatory : No

A cylindrical tank has a hole of 1 em? in its bottom. If the water is allowed to flow info the
tank from a tube above it at the rate of 70 em®. s72. then the maximum height up to which

water can rise 1 the tank 1s

w8 APFTG €708 T et eriinod” 1 om® Goddw )8, 70 em’.s™ Sy
TR &) w8 FRaw od N EP(o8 6’08 DIPoE BRRSY, YYD eros
&' b BT (162 o Joid?
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Options:

1.« 2.5 em
> % dem
3 % 10 em

4 % 0-25cm

Question Number : 99 Question Id : 8135612979 Display Question Number : Yes Is Question
Mandatory : No

Two rain drops falling through air have radii in the ratio 1 ¢ 2, They will have terminal velocity
i the ratio

8 Gr(o S0 6 Tord DY Doddpen 1 2 G’ aﬂébgmj s9AGR) 2. 0 J
iy 365 36220 Dy €9A eokran?

Options :
1% 401

2. v 14

3% 2:1

Question Number : 100 Question Id : 8135612980 Display Question Number : Yes Is Question
Mandatory : No
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Heat required to melt 1 g of 1ce 15 80 cal. A man melts 60 g of ice by chewing in one minute,

His power 1s

1 g 0t S6IG=S 0306 &0 B0 cal. 28 2032 60 g Do 28 AW
Adwc o SHATE. BB &mgéan Jodd?

Options :

| % 4800 W

, v 336 W

3 % L33W

4 % 0.75W

Question Number : 101 Question Id : 8135612981 Display Question Number : Yes Is Question
Mandatory : No

At 50 °C. a brass rod and a steel rod of equal length 50 cm each and equal diameters are joined
together. The composite rod 1s heated to 250 °C. Find the change in length of the composite

rod. [ezrqss =20 X 1074°C™! and @y, = 12 X 1078°C77]

50 cm a7 T Bain 2 Tjodwe $9AR Bl 20ako Hev SGuky 50 °C
36 e Eetd $Draw. & D3 S6 250 °C % DEBY & D 86 Awe), TeHe*

aJ“ﬁJD Uyl = 20X 107%°C™* and Ay, = 12 X 107° °C"1]
Options :
1 = 0.28 cm

> 032 cm

3 % 0.30 em
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4 % 0.20 cm

Question Number : 102 Question Id : 8135612982 Display Question Number : Yes Is Question
Mandatory : No

If systern A 1s m thermal equilibrium with B and B is separately i thermal equilibrium with C.

then A and C are in thermal equilibrium, From which thermodynamics law, does this follow?

S50 A, B S AT ;"gaes‘ar 208050 B, C & Jém e fgaeﬁ*m &otd A Sobodn C e
& A i‘g@ﬁ‘ Gotraw. 9B &RIBSE 7 2 Jahsw?
Options :

Zeroth

1 %‘J";T’?SGE

First
o DO

Second

Third
. SOPED

Question Number : 103 Question Id : 8135612983 Display Question Number : Yes Is Question
Mandatory : No
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By leaving the door of a small standard domestic refrigerator open. it is not possible to cool a
roon1. becanse if violates the

D& e’ TC TR 03 Beondnb aR08), BN BB G, (B Y Etlo eI
6. 28 2 AoDAANR Feho?

Options:

First law of thermodynamics

& (AS T70 VG Dodrsnan
‘|. k=3 Ea o

Second law of thermodynanucs

&3 (5S 7R Colld Qoidoaw

Law of conservation of momentum

- al>y Fele! ':}"jééf; ~OHIS5)

Law of conservation of energy
33 RBEC DaB 0S80
% —

Question Number : 104 Question Id : 8135612984 Display Question Number : Yes Is Question
Mandatory : No

When the state of a gas 15 adiabatically changed from an equilibrium state A to another
equilibrium state B. the amount of work done on the system 1s 35 . If the gas is taken from
state A to B via a process in which the net heat absorbed by the system is 12 cal. the net work

done by the system in (leal =4.217)

S Jroi0Y) ’-gﬁﬁigs 2 ddy Hdahe GR) DG é}.‘.ﬂ@“?gé A & :oman”gea Bs
ArBAYE ;55;.‘1"‘-&.) s 2003 Ao DA 35 1. ;55;‘)“’:3 AgNey (ePowdd Awdo Eago 12 cal ©F
&3 TrOJ0HA 53&3 A 006 B & S0l béb‘rg:g 2003 Ando A (leal =4.217)

Options :
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|« 1327
5 v 1547

3 % 12.67

4 % 1687

Question Number : 105 Question Id : 8135612985 Display Question Number : Yes Is Question
Mandatory : No

When one litre of an 1deal gas at 27 °C is heated at a constant pressure to a temperature of
297 °C. find 1ts final volume,

E_?L‘: 260 a‘.?tg 28 Dws Uddf-} T0o50sQ) 27 °C Ao 297 °C £ S¢ BSobrcdd. eand ol
a0ws), Su6 QD00 Joch?

Options:
1 % 1.2 Litre
5> « 1.9Litre

5 % 19 Litre

4 % 2.4 Litre

Question Number : 106 Question Id : 8135612986 Display Question Number : Yes Is Question
Mandatory : No
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2n

The equation of a wave 1s given by y = 10 sin ((E) t+ af). If the displacement at t = 0 s is

5 em. then the total phase at t = 7.5 ¢ 1

2

2.8 B0 2860 v = 10sin ((i—“) £+ rr) ™ wRARB. £ = 05 o 56 Figoto
S5emeond t=75s ;‘)t‘é 20830 63

Options :
w
1.% 3

Question Number : 107 Question Id : 8135612987 Display Question Number : Yes Is Question

Mandatory : No
(i TR —_ i 5 R =y ;
An infimitely long thin straight wire has uniform linear charge density of Fom. Magnitude

of electric intensity at point 12 em away is (eg =88 x 102 Fm™h

1}
eod T o 83) D Heocsd D¢bS dDab 853 Fogd = em™! & s9hatoR) b.
12 om Groand’ DS $8 S8 H0ATHAN Jod? (6 =88X 107 “Fm™)

Options :
| »05x10M N.CTT

, % 033x 10" N.C!
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3 % 0.75x 10" N.c™?

4 % 099x 10" N.C™?

Question Number : 108 Question Id : 8135612988 Display Question Number : Yes Is Question
Mandatory : No

What 1s the electric potential at a distance of 9 em from 3 nC ?

3 nC amémnzﬁa;m Aol 9 om AroSD 56 am@ ﬁ“ez.gojsej aoes?

Options:
1.« 300V

, % 270V
5 % 30V

4. % 3V

Question Number : 109 Question Id : 8135612989 Display Question Number : Yes Is Question
Mandatory : No

Points A and B are separated by 3 cm and a unitorm electric field 1s acting from A to B with E =

300 N.C™*. A charge of 3 uC is taken from B to A. Force acting on the 3 yC charge is

0ot Doddayen A Bl B o :J}Cé5 6r6aw 3 em. E =300 N.C™* e 3@5@ £850 A
Aot B 2P :Jbﬁﬁinmél&. 3 uC 3532500 B 0ot 4 & S8 b#om&é&. €908

3 1€ 8533302 DABEIN LYY
Options :
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1 % 3X107*N
, % 2X107*N

9x10°*N
3. ¢

4 % 8X107*N

Question Number : 110 Question Id : 8135612990 Display Question Number : Yes Is Question
Mandatory : No

Identify the correct vaniation of diift velocity (v,;) with electric field strength (E):
€2 D A DEAS ST G L VoeIoGA
Options :

1« vg X E

Question Number : 111 Question Id : 8135612991 Display Question Number : Yes Is Question
Mandatory : No
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The total intensity of the earth’s magnetic field at equator is 5 units . What will be ifs value at
the poles?

HP06H] 32 3¢ ZArad AwE), 2SI BN 08 £G SIS 5 eI, NS BT 3¢
T D0 Jodd?

Options :
1.¥ 5

Question Number : 112 Question Id : 8135612992 Display Question Number : Yes Is Question
Mandatory : No

A coil of area 10m? is placed in a uniform magnetic field of 0.3 Wh.m ™2 with its plane

perpendicular to the field. The coil rotates at a uniform rate to complete one revolution in 8s

Find the average emf in the coil during intervals when the coil rotates from (i)o® to 90°,
(i1)90° to 180°. (iii)180° to 270°, (iv)270° to 360°

10m’* 27 053n do & ti 0.3 Wh.m™? D568 wo) 08 S35m6" ol dviw £g08
DOtV &) 8. Srf oty DSBS B Fdoraatod TR Bsec & 28 Fdomadw 7
SR, 9rf L ShMEIR) YYE $0b A[SVS" AriHS’ ity Do,

(1)0° 0ol 90°, (i1)90° avod 180° (iii)180° duod 270°, (iv)270° Aod: 360°

Options :

3. 3. -3 -3
-V, =V, —V, —V
1w 2 "2z 2 2

3. -3 3. -3
o 272 T2 2
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Question Number : 113 Question Id : 8135612993 Display Question Number : Yes Is Question

Mandatory : No

Two ditferent coils have self inductance L, = 8 mH and L, = 2 mH. The current in one coil 15
mereased at a constant rate, The current in the second coil 1s also mcreased at the same rate, At
a certain mstant of time, power given to both the coils 15 the same. At the time, the current, the
induced voltage and the energy stored in the first coil are iy, v, and w, respectively.

Corresponding values for the second coil at the same mstant are i,, v, and w, respectively.

7 _W;

Then find the value of —=
Wy

Got) 6 S Aricsor) GE), o OSTRN Ly = BmH 20Bakw L, = 2 mH. w8
éﬁzﬁ)&ge‘f ﬁlmﬁ RTTA0 fgdémg 2Md0ed. Jotsd érﬁm%};é‘ b} bmﬁ@ DT T %ﬁ
B0 2EMBA. 28 Dg@ P0aHa8° Totk éﬁmggs: w8 &mg"ﬁl wbhn. e3
Fabablonh abb) :ch. 3)6&3}5@ DT, 08 5 egé 20800 AL éﬁmgﬁﬁ DUS GotiRIed %é
DA™ iy, vy B0 wy. &5 b&fgmvﬁ Ootid &dzﬁ)@gt’iﬁ VotioBS DRVILY SEDT

W
iy 7y 300080 . XY\ — Deasd Dodd?
Wi
Options :
W
L
1.5 W1
Wao 1
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W3
—=4
3.v ™1
we 2
w; 4

Question Number : 114 Question Id : 8135612994 Display Question Number : Yes Is Question
Mandatory : No

In series LCR AC circuit, the capacitance is changes from C to 4C. For the same resonant

frequency. the mductance should be changed from L to

LCR 38 Swohand’ Qﬁ"ﬂ)ﬁ% C Aok 4C § B8, 88 9T 3”5«53:5“53% 20550
L e rod 7
Options:
L
v 4

S | =

3.$3 ZL

4.33 4‘L

Question Number : 115 Question Id : 8135612995 Display Question Number : Yes Is Question
Mandatory : No

Which radiation among the following has maximum wavelength?

(0 S600FED0 DA Sborren
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Options:
Infrared rays
| % DTN SOEFWD

Ultra violet rays
. 93D e 6ren

X-rays
X SoeFen

Radio waves

4 oc.air

Question Number : 116 Question Id : 8135612996 Display Question Number : Yes Is Question
Mandatory : No

Planck’s constant has the dunensions of

oS DorosA SO &) doew v TR

Options :
Energy

Lo

Mass

g;ﬁ?gw%
2. ®

Frequency

- FO 2R

4.+
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Angular momentum
E'cdan @y Deiaw

Question Number : 117 Question Id : 8135612997 Display Question Number : Yes Is Question

Mandatory : No

The wavelength of radiation emitted when an electron jumps from 5% excited state to 3

excited state of a hydrogen atom 18 . Given, Planck’s constant = 6,625 X 107 J.s

TEED DoAraDY’ 48 TR 59 adas Fan dod. 3 6380 s’
P&\, DG Ddde Bdof B0 (808 QT08026.25 X 107 [.s)

Options :
| % 262 A

, % 262 A
3 2.62 uym

4w 26.2 mm

Question Number : 118 Question Id : 8135612998 Display Question Number : Yes Is Question
Mandatory : No

Ratio of density of nuclear matter to density of water is at least (Rg=

12% 107" m&m, =m, =167 x 10" kg)

So0is DG Fodde, D gy M o Aiayd A, S0 Jensd
(Ro =12 X 107" m & m, =m, = 1.67 x 107 kg)

Options :
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1 @ 2307 X 10" kg.m™3

5 % 2307 x 10" kg.m™"

5 % 23.07x10% kg.m™

4 % 23.07 10" kg.m™>

Question Number : 119 Question Id : 8135612999 Display Question Number : Yes Is Question
Mandatory : No

Considering the junction diode to be ideal. find the

value of current flowing through AB 1kQ
s % A N £ B
HLAVG'D Ded Caré ¥G0) Gord wowd, AB 4V -6V

&P (Dot Darold DANS dod?
Options :

1. ¢ 10724

2 % 1071 4

S L

4.% 04

Question Number : 120 Question Id : 8135613000 Display Question Number : Yes Is Question
Mandatory : No
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In an optical communication system operating at 1200 nm. only 2 % of the source fraquency
is available for TV transmission having a bandwidth of 5 MHz. The number of TV channels

that can be transmitted via this system 1s

1200 nm 36 HIBakD) w8 BT Do HHVE", 300 2 % 2de TEYw
Arg0 5 MHz 28 dcesy $963 TV pF0d8 wodertnd’ &) 6. wand ) TV

m”:‘bﬁh 2 HFEAN am;:m&m?
Options :
1 % 2x10°
5 % 10 % 10°
3 % 0.1 x 10°

106
4. & 1x10

Chemistry

Section Id : 81356166
Section Number : 4
Mandatory or Optional : Mandatory
Number of Questions : 40
Section Marks : 40

Enable Mark as Answered Mark for Review and
Yes
Clear Response:

Question Number : 121 Question Id : 8135613001 Display Question Number : Yes Is Question
Mandatory : No
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Which of the following species is 1so-electronic with Cr?
208 oS’ Cr & o QoIS &) A 267

Options :

- Fed3t
3 ¢ Mnt

4 % Mn*?

Question Number : 122 Question Id : 8135613002 Display Question Number : Yes Is Question
Mandatory : No

The de-Broglie wavelength (in m) of a sand particle of mass 1 mg. blown by a wind of speed

20 m.s™* is approximately

1 1mg er62% Ao 508 By, 20 m.s™! Adand e mdE Ihedah wdds. md & 59

B0ori 00 D) hedo?

Options :

% 1x1077
5, % 03x 1077

3 % 33x107%

4 v 33%x107%
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Question Number : 123 Question Id : 8135613003 Display Question Number : Yes Is Question
Mandatory : No

The correct order of total number of node of atomic otbitals 1s
2027 50,EPFL, 2B SE o Rog)f NS WP S0

Options :
1 % 4f > 6s>5d

2.&,65}5{1!::-4f

3 % 4f > 5d > 6s

4 % 5d >4f > 6s

Question Number : 124 Question Id : 8135613004 Display Question Number : Yes Is Question
Mandatory : No

The most electronegative element belongs to
e::e:#vgf_hs 22069 Dmsm@ésej o Q0PSO S ot

Options :
transition elements
i D0D0D daresten

nitrogen family
T2 oA

halogen group
3 ¥ e ArD
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Chalcogens
S PESEIY
ks

Question Number : 125 Question Id : 8135613005 Display Question Number : Yes Is Question
Mandatory : No

The order of kinetic diameter of N5. €0 and €, Hy 15!
Ny. CO 208050 C;H, © SI8S Gairaberd @), $505m

Options :
NE = I‘:O = C‘_}H4

ZQEU}CZH:;}NE

3 CEH4 == CG = .E"Hrz

4. % Flll-'rz — Cr_} = E—EH{'

Question Number : 126 Question Id : 8135613006 Display Question Number : Yes Is Question
Mandatory : No
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Identify the correct statement(s) from the following:
1) There are four d-block series.
1) Total d-block elements are 40
i11) Third d-block series starts with Lanthanum & ends with mercury

1) All the d-block members are metals & found in nature
808 DIAVT LS WO oD TEI Moot

1) T d-g°8 Frwe ()

ii) 20830 40 d-gr§ JrusTw &) D

i) SrES d-er8 38 ero@dANE Frdozinon mm@&ﬁ £90S:00MA)

iv) ) d-gr§ SwresTen &bk B DX bc@i;ﬁnw Dot
Options :

(i) & (iii) only

1w (D) & (iii) S°g30

(i) & (iv) only
5w () & (iv) g

(i) , (ii) & (iii) only
3 (1), () & (jii) 20-gdo

4 % (@), (i), (iii) & (iv)

Question Number : 127 Question Id : 8135613007 Display Question Number : Yes Is Question
Mandatory : No

How many ameng C;Hg. C0O. S0, and N H; has/have zero dipole moment?
Cofg. CO. SO, 20800 NH; 08" 43 B0 gravgan 86 60)D A ?

Options:
1.% 0
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Question Number : 128 Question Id : 8135613008 Display Question Number : Yes Is Question
Mandatory : No

Which of the following species contains two lone pairs and two bond pairs?
o8 2w’ Do) w080 2oten AB03 Tod tod 2otie SO A7

Options:
1 % NH;

). % BFs
3. v M

4 x PCL

Question Number : 129 Question Id : 8135613009 Display Question Number : Yes Is Question
Mandatory : No

According to “Molecular Orbital theory”. which among the following correctly rauks the given

Nitrogen species with respect to their bond orders?

AL ’.ag“ue:bum 2R0A800) B AFDe AN ALY’ Lol SAToSo

200w $r) Sdanidain § 6?
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Options:

'2_ =
L x N2 <N, <N,

st ,'2_
5 & Nz <Nz <N,

2— —
3.#N2 <N; <N;

== 2_
4_$3N2 <N, <N,

Question Number : 130 Question Id : 8135613010 Display Question Number : Yes Is Question
Mandatory : No

At STP. if a mixture of Methane(CH,) and Argon(Ar) has a density of 1.5 g. L7, then the

mole fraction of methane in the mixture 1s | Given at. mass of Ar = 40 |

STP 56 23S (CH,). 6T (Ar) © Dogdvo Aws), Fodd 15 9.1 ™" w008, e Mgt
B a0, A7 LAY (Ar aiwg), D67 EIT3= 40)

Options :

2. ® U?
5 % 0.8

Question Number : 131 Question Id : 8135613011 Display Question Number : Yes Is Question
Mandatory : No
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Which reaction does not represent auto redox or disproportionation?

208 ﬁd}gueﬁ" DA 9D/ w657

Options :
1 % Cl,+# OH  —= Cl” +ClO; +H,0

2. i@ ZHEOZ =¥ HED ‘l_ C’lz
3 % 2Cu* = cu*t 4+ Cu

4. (NH-'I-}E CTzO? —¥ Nz i C?_203 + ‘l‘HEO

Question Number : 132 Question Id : 8135613012 Display Question Number : Yes Is Question
Mandatory : No

Calculate normality of the solution obtamed by nuxing 100 ml of 0.2 M H,50, and 200 ml of
0.1 M HCI solutions.

100 ml © 0.2 M H,50, 808w 200 ml & 0.1 M HCl graderosy seodrm chS:)f.‘.: 83000
aIs), Wé@&%

Options :

1. % 03N

> % 04N

;v 02N

4 % 0.02N
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Question Number : 133 Question Id : 8135613013 Display Question Number : Yes Is Question
Mandatory : No

—_ . . 1 .
What would be the equilibrium temperature of the reaction C0 + - 0; — (0, . given that

the enthalpy and entropy changes of this reaction are —285.4 kI mol ™" and
—0.94 kI mol ™KL respectively,

1
€O+ 0, — €0, B8 Doty 308030 Dot Srye SR —285.4 kI mol ™
0Bty ~0.94 kT mol ™K~ 1 maxed 8. p 66ie derdd a8 dod?

Options:
1 % 303.6°C

5 % —30.6°C
5 % —303.6°C

4 v 30.61°C

Question Number : 134 Question Id : 8135613014 Display Question Number : Yes Is Question
Mandatory : No

Given that a person inhales 640 g of oxvgen per day. assuming all the inhaled @, 1s utilized in
converting sugar (sucrose) to €0, and H,0. Find the amount of heat evolved. [ AH ompustion

of sucrose is —5645 kJ.mol ™ ]

28 .‘jﬁé B 640 g ﬁ§3a5 W Enwaé“bm. ¢ 0, o ::ngcs(mg‘as} & €0, obokw

H,0 oo 37838, & Hiabe’ Medcsuahy eio DA (wEE awog),
AH . =—5645kl.mol ™)
Options :

| % 9403.34 kJ
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, % 940257 kI
3 v 9408.34 kI

4 % 943521 kJ

Question Number : 135 Question Id : 8135613015 Display Question Number : Yes Is Question
Mandatory : No

For the reaction H, o) + By » = 2 HBr (). the concentrations of H,. Br, and HBr at

equilibrium are found to be 3.5 X 107 M. 4.7 x 107 M and 3.3 % 107% M. If the reaction
takes place in a sealed vessel at 600 °C. then find the value of its K,

Hy, +Bry = 2HBr ;) 0 868" 0domyd 6 Hy, Br, S0k HBr © mrdben
(g) (g) \g ® 0

S60Rme 3.5 X 107 M. 47 X 1073 M 080t 33 X 107 M. 600 °C 3¢ 2ur 6o
F¢6" 136; aBABDE K, Dend dod?

Options :
1. % 2.00

2 « 0.66
3 #® 4.50

4. % 1.90

Question Number : 136 Question Id : 8135613016 Display Question Number : Yes Is Question
Mandatory : No
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If the equilibrium constant for the reaction. conducted 1 a closed vessel. 2 C G[g}| + ng.g}

=200y g8 ‘K. then find the equilibrium constant for the reaction C OE gt Fy OZ(gJ =C0, @

28 0P o) P A Sobd R Hredortoc. 2 €0y + 0y, =2C0p ) & SO

1
RNAT S A% K eand ©d Honduwd” 2k €0, +—0, =C0, LS
@ o @ @ 2 @ (8)
’eomu“;'gé’a fgﬂ"o.":‘;u gauf Aoaw?

Options :
) K

1
2. % K

Question Number : 137 Question Id : 8135613017 Display Question Number : Yes Is Question
Mandatory : No

The hybrid state and oxidation state of two ‘0" atoms i H, 0, are respectively

Hy0, 6" Doty 0 dBaPmw De8856r DG 00K 6981861 DB SGTT

Options :

1 % sp?,—1
, % Sp?,+1

3.v S8, —1
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4 % sz ~HL

Question Number : 138 Question Id : 8135613018 Display Question Number : Yes Is Question
Mandatory : No

For alkali metals. which of the following trends is incorrect?
208 ST & Senwed” 65 TP DotioHot) 2O TIH DE?

Options :

Density = Li< K < Na<Rb < (s
Focseh — Li < K < Na< Rb < Cs

Tomization enthalpy — Li > Na > K > Rb > Cs
eahsdes Doy — Li > Na > K > Rb > Cs

: oy -+ g + +
Ionic mobilitv — Li° > Na > K =Rb =>C(s

3 v OIS ©DE30De — Lit > Na® > K' >Rb" > Cs™

Atomic size — Li < Na< K < Rb < Cs

4 % DA DAt — Li < Na< K < Rb < Cs

Question Number : 139 Question Id : 8135613019 Display Question Number : Yes Is Question
Mandatory : No
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Which statements about Boron and its compounds. among the following. are true?
(1)  Boron has high density and good electrical conductivity,
(if) "B isotope metal borides are useful as protective shields in nuclear industry.
(1) Borax and boric acid are used in the manufacture of glasses.

(

1v) Orthoboric acid is foxic and hence not useful in antiseptic solutions,

&0 Bk =) ADFTVE Dotolod) D SRoire Judn?

(1) &R 08 Fodd Bak0 Mot 336&)5@"5:3“56 sdn &) 8

(i) B ::amgwbcm, &' 15796 © Bogt 00 200 HBIWVY’ 648 IR EDAFATE

(i) 50 2uboo 558 50800 e 0308 TETD

(iv) e 65'85 e DiPdo SHEAL SUN o)é?aigé THEUd’ GHErEHGE
Options :

(i) & (ii) only

1w () & (i) Srgd

(ii) & (iv) only
5> % (ii) & (iv) So-ado

(iii) & (iv) only
3 % (iii) & (iv) Srdo

(i) & (iii) only

4 o (D) & (iii) 3rgd

Question Number : 140 Question Id : 8135613020 Display Question Number : Yes Is Question
Mandatory : No
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(1) The gas which 1s common in both “water gas” and “producer gas” is

(1) Producer gas consists of a mixture of and gases in the ratio 2 ¢ 1.

(1) &6 R 2dasn @’cirs}‘.:& TFRE ToGit) oot &AL EIT (1) T0R0Y)
(i) TErRE M & SoBain TOI0Pe0 2 ¢ 1 Aiqyde” Socoiy

Options :
1. % (1) NO : (1) NO & H,0

L« () NO, : (i) NO, & Hy0

L » @ €o : (i) co & N,

4w (@) €Oy : (i) COp & Ny

Question Number : 141 Question Id : 8135613021 Display Question Number : Yes Is Question

Mandatory : No

Which of the following species is not invelved in the formation of photochemical smog?
800 RIEED ZPSwS” 5708 6 é“éﬁ DOV EHAT R

Options :

Volatile organic compound

- Ty B0 S63 D D) FOIW

2. % NO
2 v SO
4.% O3
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Question Number : 142 Question Id : 8135613022 Display Question Number : Yes Is Question
Mandatory : No

The IUPAC name of the following compound is

& 808 .!)U‘émm: (e :’a;a:éva:.m aws), IUPAC &7
Br
Options :

3- Bromo- 6- ethyl- 6- methyl cyclo hexan- 1- one
3- 5°A7- 6- S@S- 6- WJPS P TP - 1- LD

2- Ethyl- 2- methyvl- 5- bromo cyclo hexan- 1- one
2- &IPS - 2- FS - 5- A 2§ 35yD - 1- 4D

2- Methyl- 2- ethyl- 5- bromo cyclo hexan- 1- one
2- B - 2- HBS - 5- A 8 TED - 1- LD

5- Bromo- 2- ethyl- 2- methyl cyclo hexan- 1- one
5- e'20r - 2- GBS - 2- S DF 5D - 1- 4D

Question Number : 143 Question Id : 8135613023 Display Question Number : Yes Is Question
Mandatory : No

The TUPAC name of the following compound is CH;CH,CHCH,CHCHO
S ':033&"}‘531‘1) l:ﬁl)SZT [UPAC Traaw Cl CH,
Options:
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3- chloro -5- methyl hexanal

3-§8-5-88 Te\TS

2- formyl -4- chloro hexane

2- FPS -4-§6 8D

4- chloro -2- methyl hexanal

Lo £6-2- Qg reyTS

4- chloro -2- tormiyl hexane

L 4- E6-2-F9 0 8D

Question Number : 144 Question Id : 8135613024 Display Question Number : Yes Is Question
Mandatory : No

The total number of possible four membered ring cis and trans isomers for the molecular
tormula CyH Cls 15

C,HCl, amﬁ“méw, TR S°G)R SLaLAND (Y VL FTAS A-Ery A IER
ﬁﬁ;& faoa_::?g

Options :
1. % 3
2.v 4

3 %5

4. % 2
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Question Number : 145 Question Id : 8135613025 Display Question Number : Yes Is Question
Mandatory : No

The following reactions are examples for

(1) and (1)
206 fﬁdﬁﬂfm DOfcdotiot. @) (1)  HobBodn (i) 6578 Boddd.
: Ryl—~Liy KoH
Br  Br
H,C—(H,

() H,C=CH, —= 5 o
Br Br
Options :
(1) Substitution reaction: (11) Addition Reaction
. (1) DBEDE B35 | 1) VoS 2Ll

(1) Elimination reaction: (11) Addition Reaction

, o (D) DS B0y (if) Doserd &6

(1) Substitution reaction: (11) Elinunation Reaction
(1) DBEDE WOy (ii) D5 DD €50
3. % P, g 7

(1) Elimination reaction: (i1) Substitution Reaction

(1) DS°HD B56(: (ii) DBEDE WA
4, %

Question Number : 146 Question Id : 8135613026 Display Question Number : Yes Is Question
Mandatory : No
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Lithium borohydride crystallizes in an orthorhombic system with 4 molecules per umit cell. If its
edge lengths in the three axesare a = 6.81 A, b =443 A andc = 7.17 A. then find the density
of the crystal. (Atmasses: Li = 7. B = 11. H = 1).

QD L 4 WYY FRYyD VAIAND ay-gﬁ Déodo ﬁﬁ:.;“g& ;’oﬁe}ésmo
Bt AP 0T DO T VoI a = 6814, b =443 A baw ¢ =717 A
00, & B8 aIg), Fodd Ackoriraan. (6:3re gagoaoen: Li = 7. B = 11 H = 1)

Options:

1. % 0.525 g.cm

5« 0.676 g.em™

3 « 0.584 g.cm™

4 % 0.495 g.cm— 2

Question Number : 147 Question Id : 8135613027 Display Question Number : Yes Is Question

Mandatory : No
When 0.2 g of a solute dissolved in 10 g of solvent. it boils at a temperature 0.75 °C higher

than that of the pure solvent. Then the molecular mass of the solute would be g.mol ™™,

(The molal elevation constant for the given solvent i1s 2.21 °C)

10 g @6’ 0.2 g graddo $OA 63y w8 Trdeio, 06 @h S0t .75 °C 8,3 eﬂg“ﬁez’s
36 263, Tddo REIT3 g.mol™ (@raed arerd wrayBsd 3
&8 2.21°C)

Options :
1. 58.93

5> % 589.3
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3 % 0.583

4 % 29.15

Question Number : 148 Question Id : 8135613028 Display Question Number : Yes Is Question
Mandatory : No

Caleulate the number of faradays(F) required to produce 121.525 g of magnesium from

molten MgF,. Atomic mass of magnesium is given as 24.305 g.mol ™.

i MgF, &6 121525 g 2ofl) ojos &g Sabowsh SHud F6de teafiy
%) oo, (2ofh) datho HoATew SO 24.305 g.mol ™)

Options :
1.« 10F
> % b F

3 % 24F

4% 121F

Question Number : 149 Question Id : 8135613029 Display Question Number : Yes Is Question
Mandatory : No
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For a certain reaction between X and Y. the order with respect to X 15 3 and that with respect to
Y is 4. If the concentrations of both X and ¥ are tripled. the rate of reaction will increase by a

tactor of

X Sodosn ¥ © mdﬁ A 66553 tﬁﬁé SroSo X ﬁa@; 3 0boiw ¥ d‘bauﬁ 4. X nbato Y

TESVA 3 BLL Do tﬁt‘%ﬁ&D T 200D

Options :

1. % 47

2w 3
3% 7

4 % 127

Question Number : 150 Question Id : 8135613030 Display Question Number : Yes Is Question
Mandatory : No

The specific conductance of an aqueous KNO; solution at 298 K., for a fixed concentration is
0.024 ohm™.em™. If the resistance of a cell containing this solution at 298 K was found to

be 85 o/um. then find its cell constant.

298 K 3¢ w8 26 m6d (o KNO; 205560 D3 Tredce Jews 0.024 ohm™.cm ™.
& @m0 GA) ukio alwe) D&?cﬁé@so 85 ohm. & b iqgwoSo

Options :
1.« 2.04 em 1

, % 436 x 107* em™!
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3 % 1.02cm™

4 % 218% 107 * em™?

Question Number : 151 Question Id : 8135613031 Display Question Number : Yes Is Question
Mandatory : No

Predict which of the following gases show least adsorption on a definite amount of charcoal?
T, (Critical temperature) of gases m K scale 1s as

S0 rHtd ToNHVY’ O ToIND) Dgg DOArmA &) o6 §9p CLION

0T QR0 Br? T, (o &T'is) Denden 8BS Srdods” mdedA.

C0,(T. — 304K)

NH, (T, — 406K)

§0,(T, — 430K)

HCI(T, — 324K)

Options:

1.v 502

Question Number : 152 Question Id : 8135613032 Display Question Number : Yes Is Question
Mandatory : No
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Treatment of PbS. Ag and Hg with 05 gives respectively.

PhS. Ag Hnbodw Hg & dddarmr 0, § f\'}ﬁé a&b&@bm Dci_jc‘.a eéba"lw SR
Options :

.« PbSO,, Ag0, HgO
2 % PEJSGJA, Agzo i ngga
.« PbO, Ag,0, Hgy0

4JPI)SG4‘ AQEO, HHEO

Question Number : 153 Question Id : 8135613033 Display Question Number : Yes Is Question
Mandatory : No

The decreasing order of the botling points of the Hydrogen halides is correctly represented by:
TEuD PE © BN gwu 3T 05 S22

Options:
1. % HI > HBr > HCl > HF
5 w HF > HI > HBr > HCI

3 % HF > HCl > HI > HBr

4 % HCl > HF > HI > HBr

Question Number : 154 Question Id : 8135613034 Display Question Number : Yes Is Question
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Mandatory : No

Pure nitrogen gas is prepared in the laboratory by heating a mixture of

QFArA) HEBANL T, OriTOS 20869 'ad T SOIrABT.

Options :

. » NH,OH & NaNH,

, o NH,Cl & NaNO,
5 x NHyNO, & KNH,

4 » NHF & NaNO;

Question Number : 155 Question Id : 8135613035 Display Question Number : Yes Is Question
Mandatory : No

The outer electronic configuration of Chromium (Cr) is
§ oo DEITEDY) T JVTD DTRDW

Options:

2 % 3(’!4 45
3 % ?}dﬁ ‘ﬂ:SH
4 % 3d° 4s!

Question Number : 156 Question Id : 8135613036 Display Question Number : Yes Is Question
AP EAPCET 2021



AP EAPCET 2021

Mandatory : No

Deficiency of Ribotflavin causes the disease
BeS DD TGS SV By T(B

Options :
Hemophilia
raradaie

Rickets

5 % &EQSD

Beriberni

Chetlosis
4 v SED

Question Number : 157 Question Id : 8135613037 Display Question Number : Yes Is Question
Mandatory : No

Arrange the following compounds in the decreasing order of boiling points:

& DA PO T e;'*f:_}aj;ﬁa gvaa» S ga0A00e5° 986y oC,
CH,Br  CH,CH,Br  CH,CH,CH,Br  CH,CH,CH,CH,Br
(i) (i) (iii) (iv)
Options :

1w @) > (i) > (iii) > (iv)

, o () > (i) > @) > (@)
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3 % (D) > (i) > (i) > (iv)

4« (i) > (iv) > (1) > (i)

Question Number : 158 Question Id : 8135613038 Display Question Number : Yes Is Question
Mandatory : No

Identify the most suitable reagent for the following reaction

RAoc. SOIT-d WOILLL) &DOOIrRotietl) S°E5H0

Options :
1. % CrOj (anhydrous)

, % NaBH,

3 v In —Hg/HC
Ozonolvsis

4 % SETOND

Question Number : 159 Question Id : 8135613039 Display Question Number : Yes Is Question
Mandatory : No
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The major product of the following reaction sequence is

& 308 WOEES” DOV DEFD SSD) w0

OCH T
¥ i) CH4Cl, AlCl(anhyd.), CS,
i) HI
) . 9
i) Bry /H;0(excess)
Options:
OH
Br
1. % CH;
OH
[ I
5 % CH4
OH
Br Br
3. o CHL‘.‘
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OH

Question Number : 160 Question Id : 8135613040 Display Question Number : Yes Is Question
Mandatory : No

Identify the major product when Anisole is treated with anliydrous Aluminivm (IIT) chloride i
the presence of acyl chloride.

RS EBE pged’, TS oFg weribdabo (I §06S 30 280D o’
2T &y 0 D67
Options :

4-methoxv-acetophenone

- 4-6'21;55%3-&]5:&56‘&@55

2-methoxy-acetophenone

2-05rS -0 HID

3-methoxy-acetophenone

3-SR DD

3-methoxy-phenol

3-oEra\-365
4, % 3
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